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The following table shows the number of Votes polled (in lakh) during opinion polls that were
conducted to know about the popularity of four [T Companies A, B, C and D, in alternate months,
namely, January, March, May, July, September and November, in a given year. All the people who
participated in the opinion poll each month have definitely casted their vote in favour of any of the
four companies. Based on the data in the table, answer the questions that follow.

Month-wise Details of Votes Polled (in lakh)

it Number of Votes polled for company (in lakh)
A B C D
January | 15 | 25 | 3.0 4.0
March | 10 | 3.0 | 20 4.0
May 10 | 10 | 25 3.5
July 15 | L0 | 25 4.5
September| 20 | 20 | 35 4.5
November| 3.0 | 20 | 15 4.0

Sub questions

Question Number : 1 Question Id : 5330725779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The number of votes polled in favour of A and C, taken together in January, May and September

is approximately % less than the number of votes polled in favour of B and D, taken
together in March, July and November.

(1) 27

2 37
(3) 44
(4) 18
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330725780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What i the ratio of percentage decline in votes of B in May in comparison to January to the
percentage decline in votes of C in November in comparison to January ?
(1) 6:7

Question Number : 3 Question Id : 5330725781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In all the six months combined % more votes are required by company A to equal the
total votes polled by company D.

(1) 150

(2) 145
(3) 133
(4 8
Options :
1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 5330725782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per table, in the month of July, the votes of D and C are in the ratio 9 : 5. If the votes of D remain
same, then the votes of C should increase by % to make the ratio 5: 9 (in the month of

July).
(1) 80
(2) 124
(3) 144
(&) 224
Options :

1.1
2.2



3.3
4.4

Question Number : 5 Question Id : 5330725783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the month of September, the additional number of votes needed b}f Aand B togelher to get 7%
more votes than D 1s

(1) 91300
(2) 81500
(3) 14400
(4) 71200

Options :
1.1
2.2
3.3
4.4

Question Id : 5330725778 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 5330725779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A STC % & ¥ ST, W S et 21 Tt Sfed U Wl 1 S B &R D o 94 H Wi, ek A
T 1 e <l 0 W a HE § e % %9 B

(1) 27

2 37
(3) 44
(4) 18
Options :
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 5330725780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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/)
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7
) 7:6
(3) 6:5
() 4:3
Options :
1.1
2.2
3.3

4.4

Question Number : 3 Question Id : 5330725781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 150

(2) 145

(3) 133
(4) 88
Options :
1.1

2.2

3.3
4.4

Question Number : 4 Question Id : 5330725782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(3) 144
(4] 224

-

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330725783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072231
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330725784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following best exemplifies the zero transfer of learning ?

(I) Using knowledge of one programming language to another similar language
(2) Applying techniques of learning in basketball to improve skills in soccer

(3) Using skills acquired in carpentary to excel in painting

(4) Applying a mathematical problem solving method to physics problems
Options:

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 5330725784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
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4.4
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Question Number : 7 Question Id : 5330725785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following channels of Swayamprabha are under the Consortium for Educational
Communication (CEC), New Delhi ?

(A) Channel 11

(B) Channel 1

(C) Channel 15

(D) Channel 3

(E) Channel 6

Choose the correct answer from the options given below :
() (A) (8 (C)and (B) Orly
) (C) (D) and (E) Only
(3) (A)and (C) Only

(4 (8), (D) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 7 Question Id : 5330725785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) =11
(B) 1
(C) = 15
(D) 3
(E) =6
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(4) 4 (B) (D) 3 (E)
Options :

1.1



2.2
3.3
4.4

Question Number : 8 Question Id : 5330725786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(App) (Use)
(A) Labster ()  Real-time polling
(B) Google Earth (I)  Virtual labs and simulations
(C) Kahoot (II) Virtual field trips and geographic exploration
(D) Poll Everywhere (IV) Online quizzes and assessments

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(IL), (C)-(I1), (D)-(1)
(2) (A1), (B)-(I), (C)-(IM), (D)-(IV)
(3)  (A)-(I), B, (C)-1v), (D)-{)
(4)  (A)-(I), (B)-(T), (C)-(L), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 5330725786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A)(LV), (B)-(IT), (O)-(11), (D)-(I)
(2)  (A)-D), (B}-(I), (CHIIL), (D)-(IV)
(3)  (A)-(1D), (B)-(D), (©)-(1V), (D)-1)
(4)  (A)-(), (BI(I), (CR(I), (D)-(1V)
Options :

1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 5330725787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants to jntegrate SWAYAM into the curriculum to enhance learnjng. Which of the
following benefits of SWAYAM should the teacher highlight to the students ?

(A) Free access to quality educational resources

(B) Opportunity for live interactions with instructions
(C) Peer-reviewed assignments

(D) Sell-paced learning

Choose the correct answer from the options given below :
(1) (B) (0 and (D) Only

(2) (A) and (D) Only
() (D) Only

(4) (A)and (B) Only
Options:

1.1

2.2



3.3
4.4

Question Number : 9 Question Id : 5330725787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 10 Question Id : 5330725788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The reduced ability to remember information acquired after the onset of Amnesia is known as :
(1)  Working memory

(2) Retrograde amnesia

(3)  Phonological loop
(

4)  Anterograde amnesia

Options :
1.1
2.2
3.3
4.4



Question Number : 10 Question Id : 5330725788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 5330725789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The tendency of people being observed to act differently than normal as a result of their awareness
of being monitored, refers to :

(I)  Subject reactivity

(2)  Observer bias

(3)  Observer drift

(4)  De briefing

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330725789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 5330725790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful for depicting
proportions ?

(1) Line charts

(2) Histograms

(3) Pie charts

(4)  Scatter plots

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 5330725790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330725791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the main pre-occupations of quantitative researchers
(A) Measurement

(B) Causality

(C) Description

(D) Generalization

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (€) and (D) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 5330725791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) < (A), (B) 3R ()

(2) ¥ (B), (C) ¥R (D)

(3) %A (A), (B) 3R (D)

(4) F (A), (C) 3R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330725792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order.
(A) Sixth decile

(B) Median

(C) Third quartile

(D) o7t percentile

Choose the correct answer from the options given below :
(1) (A), (D) (B), (C)

(2) (), (Q), (A), (D)

(3)  (B), (A), (D), (©

4) (A), (©), (D) (B)

Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 5330725792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freAferfad wifenTa ATl i 9¢d s H SJefed #1
(A) W1 YHF

(B) HIfeIERT

(C) drew Iqde®

(D) 67 =1 IEHF

e fou 7o foshedl § | W& S F 997 Fifau
(1) (A), (D), (B), (C)
(2)  (B), (), (A) (D)
(3) (B), (A), (D), (©)
(4) (A) (©), (D) (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 15 Question Id : 5330725793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List -1 List - II
(Total sum of squares (TSS) (R? of Regression Model)
and Residual sum of squares)

(A) RSS=5,TSS =20 I 0.62
(B) RSS=5,TSS =25 (I 075
(Im 0.8

(C) RSS=10,TSS =25
) RSS =12, TSS = 32 (IV) 0.6

(D
Choose the correct answer from the options given below :

(D) (A0, BRI, (OHII), (D)-(IV)
(2)  (A)-(ID, (B)-(), (©-1V), (D)-0)
@) (AHI), B-1V), (OHD), (D}I)
@) (A)HIV), (B)-(1), (C)-(I), (D)-(IL)

Options :
1.1



2.2
3.3
4.4

Question Number : 15 Question Id : 5330725793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 o |9 Gelt - 11 el e
Tt - I T4t - 11
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(A) RSS=5,TS5=20 0 0.62
(B) RSS=5,T55=25 () 0.75
(C) RSS=10, TSS = 25 (I 0.8
(D) RSG =12, TSS =32 (IV) 0.6
A= feu o fosred # € WE 3T H T Fifu ;
(1) (AHD), (B(W), (C)-(IH), (D)-IV)
(2) (AR, B)-(m), ©-1V), (D)-0)
(3) (AHI), B)LV), (OA1), OHI)
(4)  (ARIV), (B)-(), (C)-(I), (D)-(Im)
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 5330725794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Substitute for the gestural communication over the Internet is the use of :
(1) Emoticons

(2) Infographics

(3) Photographs
(

4)  Anonymous attachments

Options :
1.1
2.2
3.3



4.4

Question Number : 16 Question Id : 5330725794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 5330725795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The production and distribution of news by ordinary people is referred to as :
(1) Popular journalism

(2) Common journalism
(3

)  Citizen journalism
4)  New journalism

Options:
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 5330725795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) ©HRYT TR

(2)  HMHA TR
(3) MR TR
(4) TR
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330725796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The important characteristics of Internet communication are :
(A) Absence of sub-media

(B) Multi-data networking

(C) High fidelity realism

(D) Sophisticated reciprocity

(E) Non-interactive

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (), (O) and (D) Only

(3) (C), (D) and (E) Only

(4) (A), (D) and (E) Only

Options:
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 5330725796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(A) Z9-wifea =1 9 B
(B) ®g-gd Heafhn

(C) 3= Tyl gUneane
(D) OfTsRd e
(E) TR-3== Tehpamensh
= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) = (A), (B) 3R (Q)
(2) e (B), (C) 3R (D)
(3) = (C), (D) ¥R (E)
(4) A (A), (D) 3R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330725797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The features of media audience are :

( Inaccurate media coverage may mislead active audiences

(B) Audiences consume media content on the expectation of reward

(C) Infotainment can be a dysfunction

(D) Audiences are uniform for all media

(E) The new media do not provide variety of contents to audience

Choose the correct answer from the options given below :

() (A), (O and (D) Only

(@ (A), (B) and (C) Only

(3 (C), (D) and (E) Only
@)

4) (A), (D) and (E) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 19 Question Id : 5330725797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) 3med Hifea sTesRAa (Faie) ird ST F1 9Hd FT T ¢ |
(B) sImTEs G i yeren H whfean #i fovgewg &1 39dm & €

(C) g foIe Wk gfeskan & Hehell & |
(
(
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9 feu o fawred | 9 |E 3 T Ff
(1) a4 (A), (C) 3R (D)
(2) % (A), (B) 3 (C)
(3) % (C), (D) R (E)
(4) Fad (A), (D) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 5330725798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - I List - II
(Medium) (Characteristic)
(A) Video-on-demand (I
(B) Datacasting on Internet (If) “There and then” production
(€) Cinema (III) Nowness
(D) Television (IV) Invocational
Choose the correct answer from the options given below :

(1) (A)-0), (B}-(I), (O-(Im), (D)-IV)

)  Absence of being live
I

(2) (A1), (B)-(D), (O-(1V), (D)-[O)
(3)  (A)-(I), (BHIV), (COHD), (D)-(I)
) (A)-(IV), (B)D), (C)-(I), (D)-(II)
Options :

1.1

2.2

3.3

4.4

Question Number : 20 Question Id : 5330725798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 o W19 gt - [ k1 Ao =wife
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(A) W R Fifea ()  Gien 99RT A 81
(B) 3FITIE WY STHITET (II) Tchrel gor
(C) o= (IIT) SdHTAHRITTR
(D) ZeifersH (IV) &

A= fou 7o fasedi § 9 W& W F 999 Ff9
(1) (A)D), (B)-(I), (C)-(I), (D)-(IV)

(2) (A1), (B)-(ILI), (C)-(IV), (D)-(I)

(3) (A)-(I), (B)-(IV), (O)-(I), (D)-(IT)

(4)  (A)-IV), (B)-(I), (C)-(II), (D)-(II)

Options :

1.1



2.2
3.3
4.4

Question Number : 21 Question Id : 5330725799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series given below :
2710, 30, a8, 130, ?

(1) 200
(2) 222
(3) 100
(4) 175
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 5330725799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e feu Tu 9ot F9 | 7T UE 1 Il ST ;
2,10, 30, 68; 134, 7
(1) 200
(2) 222
(3) 100
(4) 175

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330725800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A man deposil‘ed some amount of money ina bank at some simple rate of interest for 3 years. Had
he depnsited the money at 2% higher rate of interest, he would have fetched ¥ 360 more. Find the
amount depnsited in the bank.

(1) 6200
(2) %7000
(3) 6500
(4) T 6000
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 5330725800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 3 i W 5 TV oredt e el R 3 ) o Ferw ot o1 G 3 R 0 2% SR A
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(1) %6200

(2) 7000
(3) 6500
(4) 6000
Options:
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330725801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A man can do a piece of work in 8 days and another man can do the same work in 10 days. How
long should it take both A and B working together but independently ?
(1) 6days

4
(2 45 days

1
(3) 4§ days

(4) 5% days
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330725801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ot ol v a8 e 0 o e & i G0 e s A 0 0 FA R | A
A ST B 1 1Y R A B e o 0 feRe fe e 2
(1) 6f

4
o 4 f

|
(3) 45 fed

1
(4) 55 fe

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 5330725802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Find the value of the fnllnwing expression :

(0.22x 0.22 % 0.22) +(0.022x0.022x0.022)
(0.66X0.66X0.66)-+(0.066x0.066X0.066)

(1) %7
2 Vs

@ Y

@ Yy
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330725802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafEa =ik & 9H =1 a1 @

(0.22x 0.22 % 0.22) +(0.022x0.022x0.022)
(0.66x0.66X0.66)-+(0.066x0.066X0.066)

1) Yy
) Ys
G Y
@ 1,

Options:
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 5330725803 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

[f "CONSTABLE' is coded as 91 and ‘STABLE' is coded as 59, then how ‘PORTABLE' shall be
coded ?
(1) 89
(2) 109
(3) 111
(4) 110

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 5330725803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7fc ‘CONSTABLE' 3 91 3% 'STABLE' 1 59 #1 41 S & 79 ‘PORTABLE' %1 4 #e fon
s ?

(1) 89
) 109
()

(4)

s

3 111

4) 110

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330725804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

) Anup is a member of Animal Rights Soc’mty, then he opposes horse racing, Anup opposes
horse racing, therefore, he is a member of Animal Rights Society”. Which fallacy is committed in
the above argument ?

(I) Hasty generalisation

(2) Inappropriate authority
(3)  Affirming the consequent
(

e

) Denying the antecedent

Options :



1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330725804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"3 o Y] SRR SRS R B 9 TS o o o 2| SO IS fery G,
Tafere o2 W SR S 1 wew Bl S o A A g A e

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 5330725805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement-"No squares are circles” is given as true, which of the following statements can be
immediately inferred to be false.

(A) Some circles are not squares

(B)  All squares are circles

(C) Some squares are circles

(D) Some squares are not circles

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A)and (C) Only

() (4),(8)and (D) Only

Options :

1.1

2.2



3.3
4.4

Question Number : 27 Question Id : 5330725805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 15 ot ], 90 el ¢ U G WV I, AT § -9 e dcHicrs €9 Y S
T 1 el & 7

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 5330725806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following two propositions can neither be both true together nor can they be false
together ?

(A) All squares are rectangles

(B) Some squares are rectangles

(C) No squares are rectangles

(D) Some square are not rectangles

Choose the correct answer from the options given below :

(I)  (A) and (D) Only

(2) (B)and (D) Only
(3) (C) and (D) Only
(4) (A)and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 5330725806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas 5 8 FH-1 2 vemfea 7 9 me-me 7 & 99 € 79 D9-9 S 2 T 87
(A) T o, o A €

(B) T, A

(C) 13 oft o, e T A ©

(D) %, 0 T 20 &

A few T forredt H ¥ WA I T HC

Options :
1.1
2.2
3.3
4.4



Question Number : 29 Question Id : 5330725807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From the following identify the propositions that are logically equivalent.
(A) No plants are animals.

(B) No animals are plants.

(C) All plants are non-animals.

(D) All non-animals are plants.

Choose the correct answer from the options given below :

(I) (A) and (D) Only

() (B) and (C) Only

(3) (A), (B) and (C) Only
(4) (A)and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 29 Question Id : 5330725807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiae o 9 7 wiqafeadi =i ge=m i S e gie ¥ guged € -
I3 off gt 9] el 2 2 |

(B) @IS ¥t Wy dien e Eren ¥

(C) Toft I TR Ty B €

(D) |eft TR-T] et e 7

e fou o faedl § © WE S F I FIfAC
(1) %9 (A) 3R (D)

(2) e (B) 3 (C)

(3) e (A), (B) 3R (C)

(4) T (A) R ()

Options :

1.1

2.2



3.3
4.4

Question Number : 30 Question Id : 5330725808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per classical Indian School of Logic (Nyiya), verbal testimony (Sabda pramina) includes :
(A) Only injunctive sentences

(B) Wards of a scripture

(C) Waords of any teacher

(D) Words of a trustworthy person

Choose the correct answer from the options given below :

(1) (A)and (C) Only

(2) (B) and (D) Only
(3) (A)and (B) Only
(4)  (A) (B), (C) and (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 30 Question Id : 5330725808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WTETT RS TR 7 (=I7) o STER Y68 YT # e 2 €
(A) ad sfeened s

(B) WY F ¥Ieg

(C) Tt off forerer o vreg

(D) fovamHra =afe/ a1 T80 & ¥

T fou o fasedi § | WE 3™ F1 T999 FIEW

(1) 9 (A) 3R (C)
(2) 9 (B) 3R (D)
(3) e (A) ¥R (B)
(4) (A), (B), (C) ¥R (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330725809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In computing, which of the following is a program downloaded and installed on a computer that
appears harmless, but is in fact, malicious.

1) Trojan Horse

(1) Troj

(2) Time Bomb
(3) Worm
(4)

4)  Logic Bomb

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330725809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ke /e 8 3 1 T S R RS R YT S R SRR F i ¢ ] o

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330725810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following pair of acronyms and their expansion is incorrectly matched ?
(1)  SIM - Subscriber Identity Module

(2) SMTP - Simple Mail Transfer Plan

(3) SQL - Structured Query Language

(4) URL - Uniform Resource Locator

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330725810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gftavit weg &R 39 fomar @1 fe1 o @ =69 m g gifoa w8 %2
(1) UH.ETH.-HoHhEer ezl Argga
(2) UHUHI-Ra-Ae 2w
3) UH.H.UA.-LFE Fa A
(4) F.IR.TA-FAEH TEHE @Rt
Options:
1.1
2.2

3.3
4.4

—

Question Number : 33 Question Id : 5330725811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dentify the correct order of the following storage devices A-D as per their increasing data storage
capacity :

(A) DVD

(B) Hard Disk

(C) CDROM

(D) Blu-Ray Disk

Choose the correct answer from the options given below :

0 © (), (D) )

@ (&) © D) 6
) ), (D) ©) (&)
@ (©, (A) ®) D)
Options :

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 5330725811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e RO ikl A-D w1 <1l SN0 &l % el 9HM 3 i Teel HIfC ;
(A) EraiE.

B) @ e

(C) i E1&m AT,

(D) =1 fewr

A feu e foreredi # | W& IW F T FIWC -

(1) (©), (A), (D), (B)

(2 (A), (), (D) (B)

(3) (B), (D), ©) (4)

4) (€, (A), (B) (D)

Options:
1.1
2.2
3.3
4.4



Question Number : 34 Question Id : 5330725812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in the context of Web Conferencing ?
(A) It uses the Internet to permit conferencing to take place.

(B) Multiple computers are used with this system, all connected over the Internet.
(C) Delegates cannot leave the conference once they join.

(D) Itis carried out in real-time.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

@) (A),(B)and (C) Only

(3) (C) and (D) Only

(@) (A), (B)and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330725812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 IR F e F A A A IR A FR W €7

(A) T8 FRIET BH 1 AT <7 % fofu 3eTie o T i €|

(B) 38 VoI H &g ol o1 YN foben < €, Woft Sevie 9 S B §
(C) T IR FFEE H wnfe 21 F a1 wifAfy (Sfaten) & 9ig 76 gad €
(D) %@ arsferss w94 (gt 2rh) o 8t €

9 feu 70 fgsedl § | WE I H I 9
(1) e (A) ¥R (B)

(2) ¥& (A), (B) N (C)

(3) 9@ (C) ¥R (D)

(4) e (A), (B) 3R (D)

Options :

1.1

2.2

3.3



4.4

Question Number : 35 Question Id : 5330725813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(ICT Term) (Meaning)
(A) Software () The software that accesses and displays pages on the web.

(B) Web Browser (II) A mechanism that isolates a network from the rest of the Internet,
permitting only specific traffic to pass in and out.

(C) PDA (II) - Asetof computer programs that enables hardware to perform different
tasks.

D) Firewall (IV) A small mobile computing device.

(
Choose the correct answer from the Uptiuns given below :

(1) (A1), (BH), (C-1V), DK)
(@) (A, B)-0), (©-1V), (D)
(3) (AR, (BH1), (CH1V), (DK()
(@) (A)T), (B, (C-T), D)-IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 5330725813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el - 1% T el - 11 e i
-1 T -1
(MmHATE) (o)
(A) TrRR () o9 T Yoo 3 T 1 39 R FeRiq 0 o Wwam
(B) IR () T FA (o S edh H I G 3o W foe W ke fofie
€ W (I11) gt ST 21 T B2 S grea o v 7 6 0 A o €
(D) TR (IV) T B¢ A dfteher i
7 feu T foraredl o © WE I T 0
(1) (AHD), (B){II), (CHIV), (DHI)

() (AH, (B)-(0), (CHIV), (D))
() (AHI), (BH), (CHIV), (DHI)
() (AHD), (BRI, (CHI), (DHIV)
Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 5330725814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Excess presence of which one of the fu]lowing in drmking water can elevate the blood pressure of
humans ?

(I) Sulphate
(2) Zinc
(3) Lead
(4) Copper

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 5330725814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfefas § 4 frae Tasa o sifafea fommmm o7 & e ¥ ofs = gad €7
(1) Hee

(2) oM
(3) s
(4
Options :
1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 5330725815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllawing are released significaml'l}F during combustion of coal ?

Flyash

E) Ammonia

Choose the correct answer from the options given below :
(1) (A), (B)and (C) Only
(A), (B) and (D) Only
(C), (D) and (E) Only
(

(
o)
() (A), (B)and (E) Only

4)
Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330725815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fraa ¥ 75 3 I Fefafad ¥ § F mefs w1 § e a9 §2
(A) T

(B) T

(C) e

(D) TS U

(E) mifam

A= feu T faepedl ® 9 WE S A = He
(1) e (A), (B) &R (C)

(2) = (A), (B) 3R (D)

(3) I (C), (D) 3R (E)

(4) I (A), (B) 3R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 38 Question Id : 5330725816 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Water treatment) (Process)
(A) Primary ()  Removal of wastes with the help of activated charcoal etc.
(B) Secondary (I) Ozonization and disinfection by ultraviolet rays.
(C) Terliary (IT) Removal of large pieces such as stick, stone, rags, plastic etc.
(D) Advanced (IV) Removal after flocculation and coagulation of wastes.

Choose the correct answer from the options given below :
(1) (A}), (BHIV), (CHL), (D)-0)

(2) (A, (BHIV), (CHD), D))

() (AHI), ©)-, ©)-1), (D-IV)

(4)  (A)MID), B)-{), C-(V), (D)-0)

Options :

1.1

2.2

) |
) |
) |

:No



3.3
4.4

Question Number : 38 Question Id : 5330725816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 % 919 el - 11 7 e i

T -1 T -1

(W Je ) ( wiera)
(A) e () Sd Sree wfe 2 Fema § i 1 g2
(B) faciter (1) S SR RS fR g foge
Q) T () weRg), Teor, o, e anrfe S og Zohe 1 &2
(D) (IV) ORI % S R Ehed % a5 g2
e feu o foered o 9 WE I A T Ffo

(1) (A, BIV), (O, (D)-0)
() (A)-(I), (BHIV), (CHL), D)-(I)
(3) (A1, B)-(ID), (©)-(1), (D)-IV)
(4) (A1), B)-(I), CH1V), O)-{)
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330725817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/are Environmental Hazard(s) due to Geothermal Power Plants ?
(A) Noise pollution

(B)  Production of SO, and NOy

(C) Production of H,S (toxic gas)

(D) Production of CO,

Choose the correct answer from the options given below :

(1) (A) Only

2) (B) and (D) Only

3)  (C) Only

(
(
(@) (A)(8), () and (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 5330725817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frferfead 9§ ®M-8 Tafaroig @ y-ard fasel 993 & #ro 2
(A) =& TgI

(B) SO, 3R NOy %l 3

(C) H,S (fatich ) o1 3emeH

(D) CO, 1 SHTEA

= feu U foeredi § 9 W&t I =TI FfU
(1) Faa (A)
(2) o (B) ¥R (D)
(3) ()
(4) (A), (B), (C) 3R (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 5330725818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fnllowjng indices represents the backgrnund level of noise po]lulion ?
(1) Ly
2) L25
3) Ls

19 Ly

Options :
1.1
2.2
3.3

(
(
(



4.4

Question Number : 40 Question Id : 5330725818 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

frfafed o § 39 o1 gosis TR Wig @i ygun fefd w3 g ?

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 5330725819 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

A'SWAYAM' course 1s classified based on the engagement of number of and number

of video hours.

)

) months
3)  weeks

) years

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id
Correct Marks : 2 Wrong Marks : 0

semesters

: 5330725819 Question Type : MCQ Option Shuffling : No



‘T TR R 9 Te 9N afed S 9 N ) Ter o SR R g o
e

(1) W

@ W
(3) ¥w®
(@

e ]

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 5330725820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient buildings named Ratnasagara, Ratnadadhi and Ramaranjaka were part of which of
the following university of ancient India ?

(1) Takshashila
(2) Odantapuri

(3) Nalanda

(4) Sridhanya Katak

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 5330725820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I ARG T, ToTesl iR Tores T i o o T fovafaemer = om o 7
(1) aefven

(2) sy
(3) A
(4) 4 e

Options :



1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 5330725821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Value based education shall include universal human values such as :
(A) Isolation

B) Non-violence

(C) Peace
(D) Righteous conduct
(E) Punishment to crime

Choose the correct answer from the Dp[iDI‘lS g'wen below :

(1) (A), (B) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A),(C) and (E) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 5330725821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



- aneTfRa fven # @ oo o ger afmfed g9 e, 59
(A) T

(B) fedm
(C) wifd
(D) HHWEY ER
(E) &9 =l €
= fou o fawedl § 9 W& 3 F 92H Fif6
(1) e (A) 3R (B)
(2) %4 (B), (C) 3R (D)
(3) % (C), (D) ¥R (E)
(4) F= (A), (C) 3R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 5330725822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct chronological sequence of the establishment of the colleges mentioned below :
(A) Daly College

(B) St Stephen'’s College

(C) Bengal National College

(D) Bengal Technical Institute

(E) St Xavior's college (Calcutta)

Choose the correct answer from the options given below :

) © E) (D) B), (A)
) (D) (&), B) ® ©)
) (E), (A), ( ©, )
) (B), (4), E), ©), D)
Options :

1.1

2.2

3.3

,.--.‘_;--—\

(
(
(3
(4

)
)



4.4

Question Number : 44 Question Id : 5330725822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e sfeafaa mefaared 1 TmET &1 98 FerEy 9a=d
(A) Sl e

(B) HZ EIHH Hiors

(C) el HeFE Hictst

(D) e i sieege

(E) He Sifoad sictsl (FHerhd)

A feu T ferredl ® | W& ST A =51 il
() (©), (E), (D), (B), (A)

(2 (D) (A), (B), (E), (C)

(3) (B, (A), (B), (O), (D)

(4) (B), (A), (E), (O), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 5330725823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List - II
(Commissions) (Major Recommendation)
(A) Knowledge Commission (I}  Grants for collegiate education
(B) Council of Education (I) Improvement of teaching at the university level
(Pre-Independence)
(C) Hunter Commission (LT) Establishment of 50 National Universities
(D) Kothari Commission (IV) Setting up a university in Bengal
Choose the correct answer from the options given below :
(1) (A1), (BH(I), (), (DY)
@) (AXI, BH1), (C-(V), (D-0
() (AHIL), (BHIV), (OHD), DHI)
(@) (A)-V), (BHD), (CHI), (DK

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 5330725823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 19 Gt - 11 1 fer =i .

et -1 et -1

( 2T (Ve v )
(A) H &AM () wefermerd foen & fau sem
B) foeoftwg (T qed) () fovafemmerd @ o fiam § guR
(C) = & (1) 50 T forvafermeral =i Tmo
(D) ISR S (IV) &Te o fovafermed 1 s
A feu U fashedi # @ B I F1 =7 R ;
(1) (A1), (BR(I), (O)-(II), (D)-[IV)
(2) (A1, (B)-(ILI), (C)-IV), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)~(I), (D)-(IT)
@) (AHIV), (B)-(I), (C)-(II), (D)-(III)

Options :



1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072232
Question Shuffling Allowed : No

Question Id : 5330725824 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer questions that follow.

The beginning of the 15t century opened a new horizon for Oriya poets. It coincided with
the most glotious period of Oriya history. Kapilendra Dev (1434-1467), a worthy son of the Orissan
soil, usurped the kingdom from the hands of the ‘Gangas’, a southem dynasty, and became the
monarch of Orissa. He conquered vast territories of the southern peninsula up to the Krishna river
in the south and Gulbarga in the west, and united people of many languages under one
administration. His victory in a number of battles created an atmosphere of self-confidence in the
Oriyas asa heroic nation, and they directed their attention to improving their language and literature.
As a result, a great poet like Sarala Das emerged from the society. King Kapilendra Dev also
encouraged his people to write in Oriya and he himself included one Oriya poem in his Sanskrit
work Parashurama Vyayoga and accepted Oriya as the state language, in place of Sanskrit and
Tamil, and he issued a number of royal orders in Oriya. His ardent love for Jagannatha and his full
dependence on Him, contributed a lot to bring about a creative atmosphere.

Sub questions

Question Number : 46 Question Id : 5330725825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which monarch is credited with opening a new horizon for Oriya poets at the beginning of the
15t century ?

(I) Kapilendra Dev

(2) Sarala Das

(3)  Tulsidas

(4) Kalidasa

Options :
1.1
2.2
3.3
4.4



Question Number : 47 Question Id : 5330725826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was one of the significant cultural impacts of Kapilendra Dev's victories and unification of
diverse peoples ?

(I)  The decline of the Oriya language

(2)  The rise of Sanskrit language

(3)  The encouragement of Oriya literary composition

(4)  The prohibition of all regional languages

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 5330725827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kapilendra Dev's martial expediﬁuns expanded Orissa’s dominion upto which fluvial bnundar_v
in the South ?

(1) Godavari
(2) Krishna
(3) Kaveri

(4) Tungabhadra
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330725828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Parashurama Vyayoga, how did Kapilendra Dev show his support for the Oriya language ?
(1) By writing the entire work in Oriya

(2) By including an Oriya poem

(3) By translating it into multiple languages
@

4 B}; prohibitjng Sanskrit and Tamul languages

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 5330725829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kapilendra Dev’s devotion to which deity contributed to the creative atmosphere in Orissa ?
(1) Shiva

)
3) Jagannath
4)  Lakshmi

Vishnu

(
(
(

Options :
1.1
2.2
3.3
4.4

Question Id : 5330725824 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

A2 fe, 0 et Bt e g R W & SR i

e YT & YR 3fean fordl o Frw v o ffest e | 7 S o elfes 4ah 7 o
9 g1 S 3 O P O 9 (1434-1467) 7 < T T % el @ T 9 fen o
T T TN T o o o e o o o et o o et w5 foer e o oo
S S YR 3 SfeRTe 97 TS & G ) R P | 90 ) ¥ S fo Y O YR T o
T 3fea i H AT evary o1 e 3 o IR T S0 S Ol e o S A A ¢
foe) o | fROTARET®Y T W T T S e o o g A e < 1 o A 7 A sfem o
i 3 fom Wiewtea foren o el S oW W 19 R o 6 e e i S a1 &R
T 1 T 3 9 ¥ Fe W a & wW W sfen 3w fo e s e o v ey 9w
o | M ¥ e S Sahe S0 o 33 R o 3 O e e e vt e e

Sub questions

Question Number : 46 Question Id : 5330725825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el YA o SR H e el o e o 7 fofest v iy o o o A e o 7

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330725826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e T i fawrl S ey AR % T B Qe qios 9 e
(1) 3fean v =1 Ty

(2) THERT AT R AR

(3) 3fea wifecae T @ Hreed

(4) | apf el w1 fey

Options :

1.1

2.2

3.3
4.4

Question Number : 48 Question Id : 5330725827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fieis <9 % g HaH e A <o H for 7 T o S o & 1 foram o ?
(1) et

@ F
()
@ g

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 5330725828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fiers <a IR A o 3 ur o yid FH gmefH w2
(1) fe 9 gui &fa & oA g

(2) U sfem wHfaa wfwfaa #37 F g7

(3) wg-arsil § 3HE G 5N

(4) HEFa S afia wmsii 6 Uy g

Options :

1.1

2.2

3.3
4.4

Question Number : 50 Question Id : 5330725829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fier <3 9 T o % Wi 981 3 IS YerIes anel S A § Amer e
(1)
()
(3)
(4

=i

Y

iy

Options:
1.1
2.2
3.3
4.4

-
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Economics

Section Id : 53307279
Section Number : 2

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072233
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5330725830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Human development report 2023/2024, out of total 193 countries included under the Human
Development Index, in which of the following groups maximum number of countries have been
classified on the basis of their Human Development Index Values ?

(I)  Very high human development

(2) High human development

(3) Medium human development

(4) Low human development

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 5330725830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A o e 2023/2024 § WA foRpme e & Siaria T et 193 < W ¥, Frefefee &
form g # ciferram <O A 3766 WG forT e WA % SR W g o T 2 7

(1) g e 7el ferey
(2) e W foRrmg
(3) WM W ferTy
(4)

4) ¥ 9 fam

Options :
1.1
2.2
3.3
4.4



Question Number : 52 Question Id : 5330725831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The rise in the nominal stock of money causes :
(I) anincrease in the equilibrium nominal interest rate and a decrease in equilibrium real income.
(2) areductionin the equilibrium nominal interest rate and an increase in equilibrium real income.
(3) areductionin the equilibrium nominal interest rate and a decrease in equilibrium real income.
(4) anincrease in the equilibrium nominal interest rate and an increase in the equilibrium real
income.

Options :
1.1
2.2

3.3
4.4

Question Number : 52 Question Id : 5330725831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hel o Aol ik | sgai] 1 qiomd fofe 9§ gl &
(1) Hqem Afea =96t X # gig 3R Gaer arsfas 7™ | &H

(2) HqeA AT =ATS g H FH 3R o ardfas 9§ 9fg
(3) HITA AMHA =S g H FH SR HIeH Arafass A § FHHl
(4) TqeM AfHTe &S < § ghg R Gderd ardfad o4 H gfs
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 5330725832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does not come under the purview of the function of Reserve Bank of India ?
(I) Custodian of Foreign Exchange Reserves

(2) Issues of Bank Notes

(3) The lender of the last resort

(4) Multiple expansion of credit

Options:



1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 5330725832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aRerg fsrd o o 1 49 % oferfa 9 7 ot €2
(1) facst Hqa1 Yer =1 §iE®

(2) ek RS @

(3) SHR 3 =l AfaH s (REE)
(4) B 1 9 ToEar

Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 5330725833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What 15 the permissible limit of foreign Direct Investment in India’s defence industry through
government route ?

(I) 26 percent
(2
(_
(

51 percent

Ll

)
) 74 percent
)

100 percent

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330725833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR F W § 9RA o & Se ¥ yere foeeh e a8 arme dm e €2
(1) 26 gfde

(2) 51 gfder
(3) 74 gfqd
(4) 100 Tl
Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 5330725834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per National Health Survey-5, what was the number of females per 1000 males during survey
period 2019-21 ?

(1) 975

(2) 991

(3) 1003
(4) 1020

Options:
1.1

2.2

3.3
4.4

Question Number : 55 Question Id : 5330725834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TP Y TR Gefeme5 & SFm e 1ty 2019-21 3 <R 9 Gom o o qer # wfece
%1 Fe o o7

(1) 975

2 991
(3) 1003
(4) 1020
Options :
1.1



2.2
3.3
4.4

Question Number : 56 Question Id : 5330725835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

During how many first completed days of life, the death of a baby is defined as the Neonatal
death ?

(I) First7 completed days of life

(2)  First 14 completed days of life

(3)  First 21 completed days of life
(4

)
4)  First 28 completed days of life

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330725835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i o ot o ) e frr f 2 < firg o g o e i 4 e o 6w  wfvenfiv foen <
,

(1) S % gom 7 9 for o e

(2) it % Yo 14 T for T feA

(3) it o oW 21 ¥ fep 0 feA

(4) oM % 5o 28 T ferw 7 feA

Options :

1.1

2.2

3.3
4.4

2

Question Number : 57 Question Id : 5330725836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is current global measurement of the extreme poverty line ?
(1) $190-aday
(2) $200-aday
(3) §215-aday
(4) 5225-aday

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330725836 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

frefafes § § Sm-a1 sterfus e W &1 adae dfveas g ® 2
(1) $1.90- 9fa feq

2 35

3) $215-fd fe7
(4) $225-9fdfe
Options:

1.1

2.2

3.3
4.4

——

Question Number : 58 Question Id : 5330725837 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

In which agriculture year, India’s first Agriculture Census was carried out ?
(1) 1950-51

(2) 1960-61
(3) 1970-71
(4) 1980-81
Options :

1.1

2.2

3.3



4.4

Question Number : 58 Question Id : 5330725837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g Ffa o4 #, 9Ya +1 999 F S0 T off ?
(1) 1950-51
(2) 1960-61
(3) 1970-71
(4) 1980-81

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330725838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under the Green Climate Fund of UNFCCC, what ratio of financial allocation between * Adaptation’
and ‘Mitigation’ activities is aimed ?

] 2Z5:7%
(2) 40:060
(3) 50:50
(4)

4 75:25

Options:
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330725838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TEIEWHH, (UNFCCC) 31 2fta Forar fify & sfarta ' argrer ol 3w a7l & o feri
9 F o T o @ T T R

() 25:7

(2) 40:60
(3) 50:50
() 75:%
Options :
1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 5330725839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwing is not an assumption of Coase theorem related to externalities and
environmental prublems 7

(1)  Absence of transaction costs
(2) Presence of income effect
(3) Complete information

(4)  Complete property rights
Options:

1.1

2.2

3.3
4.4

Question Number : 60 Question Id : 5330725839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 3R vt Tenad | wafin Brg o F1 Fefafen § 9§ 359 @ wEmm w6 e
(1) e 1 A A9
39 9971 1 Fuffd

Options :
1.1



2.2
3.3
4.4

Question Number : 61 Question Id : 5330725840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following values indicates that each woman is being replaced by one daughter,
leading to a stable population over time ?

() GFR=1

(2) NRR=1
(3) TFR=1
(4) GRR=1

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330725840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreiferfiaa & @ -91 T 7% <9 & foF Yo wfeen 1 W, T od @ ) ¢ foes afomeeey #em
T gt feem it 7

(1) AR =1

() AR =1

(3) AR =1

(4) SR =1

Options :

1.1

2.2

3.3
4.4

Question Number : 62 Question Id : 5330725841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the [Ullowing is the biggest item of grants-in-aid to the states assigned b}f the Fifteenth
Finance Commission ?

(I) Disaster risk management grants
(2) Revenue deficit grants

(3) Local bodies grants

(4)  Sector specific grants

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 5330725841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freifefed % & vged fom s g o &1 foU T Srer 1 v ae e 87
(1) 39eT SfEw Yaud SeH

(2) TSI e SFeH

(3) HE e d9EH

(4) & fafoe orgEm

Options:
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 5330725842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which state scored highest to secure top-most rank in the “State Energy Efficiency Index 2023
released by NITI Aayog ?

(1)  Andhra Pradesh
(2) Gujarat

(3) Haryana

(4) Karnataka

Options :
1.1
2.2



3.3
4.4

Question Number : 63 Question Id : 5330725842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al ST g S foR U 5 Sl < ek 2023 H forg 159 7 WY T 9 T o fore walforh
@ I {1

(1) 4Ty
(2) o

(3) et

(4) FeH

Options :

1.1

2.2

3.3

4.4

Question Number : 64 Question Id : 5330725843 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

When imports are restricted with quota rather than a tariff, the cost is sometimes magnified by a
process knownas

(I) Rent seeking

2

(3)  Tax Seeking
g

quota seeking

4)  None of the above

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330725843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T ST 1 e (<) o e W i e o g, e wf-ad pIER
o T & |

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330725844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

+X
Given y= 1o~ find the correct alternative :
dy 3

A G 2%

dy 3
2 A (1-2x)

dy 3
(3)  dx (1- p_lf

dy 3
G T (1_1]2
Options:
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330725844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(2) dx ('1—2,1;]2

() & (-2

dy 3
(4)  dx (1-x)°

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 5330725845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Suppose savings function is S = —5+0.3q, then find the correct answer from below :
(1) APC<MPC

(2) APC = MPC

(3) APS>MPS

(4) APC>MPC

Options:
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 5330725845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o foF o= wer ©

S = —5+0.32q

o frfafes o 9 9E SR Fn e ?
(1) APC < MPC

(2) APC = MPC

(3) APS > MPS

(4) APC > MPC

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 5330725846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Nash Equ_ilibrium of the f-:-llawing game

P—2

By By Bj
Avy4,2 9.1 50

P-1 A,[3,5 3,2 3,4| isgivenby:
Az|52 4,4 3,1

(1) The strategy combination (A5, B,) with outcome (4, 4)
(2) The strategy combination (A, B;) with outcome (5, 2)
(3) The strategy combination (A, B,) with outcome (2, 1)
(4) The strategy combination (A5, B,) with outcome (3, 1)
Options:

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 5330725846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P-2
By By B

A{[4,2 2,1 5,0
iémiﬁi@aﬂnaﬂmagaﬂp 1 Ay|3,5 3,2 3,4 foFeer 2 W B R

Az|5,2 4,4 3,1

(1) 9RO (4, 4) F 9o FEAIER TH (A, B,)
(2) 9RO (5, 2) % WY FEAIER TH (A, B,)
(3) SR (2, 1) % wnY FEAATE TH (A, By)
(4) RO (3, 1) % T FHEAE T (A, B,)

Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 5330725847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the following which is/are attempt of economic integration among developing countries ?
(1) The central American common market
2)  The caribbean [ree trade association

(
(3) The Latin American free trade association
(4) Al of the above

Options:
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 5330725847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fferfad § 9 #-91/4 fommrasia g9 § S THH F1/F 999 &/ ?
(1) < Hga aite s Areke

(2) T HffoER Wi 7T THETE

(3) T ifed sftRT W T THIfquEH

(4) ST gl

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330725848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the leakage-injection approach to income determination, an increase in lump-sum tax ceteris
paribus shifts :

(I) Investment plus govt. spending line upward

2)  Investment plus govt. spending line downward

3)  The savings plus tax line to the left

4)  Increases the equilibrium level of income

(
(
(
Options:
1.1
2.2
3.3

4.4

Question Number : 69 Question Id : 5330725848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

919 T o Sliohsl- g 99T H A 771 a1 Yol & ol T o W ofg i 9
ae?

1) R + TEm o v s e

) o + 9w o v S e

3) o9 + @ A AR

4) o o Yo W HaE R

Options :
1.1

(
2
(3)
(



2.2
3.3
4.4

Question Number : 70 Question Id : 5330725849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

20
Suppose Q= T and P <10, MC=1 then profit maximising price and quantity will be :

(1) P=20,Q=4
(2) P=5, Q=4
(3) P=10,Q=2
(4) P=4,0=5
Options

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 5330725849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

| 20 : . ; ,
qFle_mrQ=F HARP <10, MC =1, Al 19 SHfueraT=hor g AR R 0 g ?

(1) P=20,Q=4
(2) P=5 Q=4
(3) P=10, Q=2
4) P=4,Q=5
Options:

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 5330725850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The effect implies that nominal interest rates tend to be high when inflation 1s high
and low when inflation 1s low ?

(1) Tobin effect
(2)  Baumol effect
(3)  Fisher effect
(4) Patinkin effect

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330725850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1 fafeandl & o el 1 feafc axfereh 2l &, ATe o < W 97 %1 T &t € o
4 Tt 9 R €, 7 e o o H 9 # Th a ¢

Options:
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330725851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which organisation has developed the UPI system in India and in which year ?
(1) SEBIL, 2016

(2) SBI 2016
(3) RBI, 2015
(4) NPCL, 2016
Options :

1.1

2.2



3.3
4.4

Question Number : 72 Question Id : 5330725851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T gre A forg 9d ama § 3.9 e1E. wonelt faefaa 1§ 2
(1) Hefl, 2016

(2) THELAE., 2016

(3) @HLEE., 2015

(4) TAYLELTA, 2016

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 5330725852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For the demand function of good x, Q4 = £ (P,, P, M) the sum of own price elasticity, ctoss price
elasticity and income elasticity of demand would be :

(1) one

(2) zero
(3) two
(

4) nwheren>1

)
)
Options :
1.1
2.2
3.3

4.4

Question Number : 73 Question Id : 5330725852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Qd e I(Pﬁ_’ p]l,rf M)
W1 @, Ufa ged == 2R | i S A S el F0 2

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 5330725853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Walras' law the sum of excess demand for money, bonds and current output must be equal

)

) zero

3)  more than one
) less than one

Options:
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 5330725853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oy % AW ¥ SFER T, A€ 1 Ao A AR S IR (ER) g AN Hav
e

Question Number : 75 Question Id : 5330725854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The phrase "demonstration effect’” was coined by :
(1) James Duesenberry

(2) J.K. Galbraith
(3) Joan Robinson
(4) ].M. Keynes
Options:

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 5330725854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"yee gurE’ (FeRievE s%ae) WE o WART Hawe fues g fman a2

(1) S SR
(2) W1 Ty
(3) o g
(4) SIUA. HE

Options :
1.1



2.2
3.3
4.4

Question Number : 76 Question Id : 5330725855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not an instrument of Monetary Policy ?
(1) Cash reserve ratio

(2) Open market operation

(3) Bank rate

(4) Tax rate

2

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 5330725855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § § -1 difgs Fifa 1 Suwert 76 € 7

(3) & R
(4) T
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330725856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The quadratic form av*+ by + 2hay is negative for all values of v and y (other than ¥=1=0) if and
only if :

a h
() a>0and|, <0
a h
@ a<Oandf [<0
a h
) a<Oand| >0
a h
@ a<0and | *0
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330725856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffee &9 ax2+by2+2hxy,x=y=0ﬁ@3l§$1.rﬁﬁy%w}rmﬂqﬁfzﬁfﬂmﬁl 7fe 3R ¥
|

(1) a>0dR| |<0

a h
@) a<odm) <0

=

(3) a<0d#m| |0

a h
(@) a<odm) *0

Options :
1.1
2.2



3.3
4.4

Question Number : 78 Question Id : 5330725857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
LK .
18:5
L+K
(1) Homogenous of degree 1
(2) Homogenous of degree 0

The pmductinn function Q =

(3) Homogenous of degree 2

1
(4) Homogenous of degree 3
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 5330725857 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
EE 4

FUled o Q=—%
L+K

(1) feiit 1= amEy
(2) Teuli 0 =1 THEY
(3) feiit 2 s wwEy

(4) f@ﬁéaﬂw

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330725858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ANCOV A models include regressors that are :
(1) Only quantitative variables

(2)

(3) Only categorical variables

(4) Both qualitative and quantitative variables

Only qualitative variables

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330725858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ANCOV A Higdl H Ui (Regressor) YA € ST % :
(1) acl JRACHS =T

(2) FHFA TUMHE =L

(3) Fad guiiag =

(4) O AR TRETOTHE =
Options:

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 5330725859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A and B are two events such that P(F&}= 04 and P(ANB)=0.2, then P(ANB) is :
(1) 04

2) 02
(3) 0.6
4) 0.8
Options :
1.1

2.2

3.3



4.4

Question Number : 80 Question Id : 5330725859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A S B 3 U W (3  fom P(AY=0.4 8% P(A B)=02 T P(AB) foFeeh e g7
(1) 04

2 02
(3) 06
0 08
Options :
1.1

2.2

3.3
4.4

Question Number : 81 Question Id : 5330725860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

You have carried out a regression analysis but after Ihmking about the relationship between the
two variables, you have decided that you must swap the explanalmv and response variables.
Atfter rufltlmg the regresqlon model to lhe data, you expect that :

(I)  The value of correlation will change

(2)  The sign of slope will change

(3)  The value of coefficient of determination will change
(4)  The value of SSE (sum of squared errors) will change

Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 5330725860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT o e fereryon fe, e 1 = 2 o il 2 i o e o e A fofa e fo e
oA (Explanatory variable) 3R gt (Response variable) EY W—Q’iﬂ Y 7 AU
ke H iAo Hieet ol . A o oG S 9 A ¢ o

1) HE-Ha 1 HH 75 S|

2) @ (Slope) F o weet = |

3)  T9IROn o VIR 1 W e S|

g v, (e FAm) 1A aEE e

Options :
1.1
2.2
3.3
4.4

(
(
(
(

Question Number : 82 Question Id : 5330725861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The lowest value of a set of observations 1s 4.5 and their range is 10.9. Artithmetic mean 1s found
to be 19.9 and median found to be 15.6. Which of the fo]lowing statements 1s correct 7

(1)
(2)  Arithmetic mean is right, but the median 1s wrong
(3)
(

4)  Both arithmetic mean and median are right

Arithmetic mean is wrong, but the median 1s correct

Both arithmetic mean and median are wrong

Options:
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330725861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 3 o 2 o R T 45 € T TR {1 109 %1 TR A 19,9 WA T S e 15,6
T ¢ e 8 4 #9-1 FH wE e

(1) IR A T & g e ) 2
(2) iR 1A e & fq wfeeR er €
(3) T e el R 2R T 8|

(4) IR A S e O e |

Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 5330725862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Estimation of regression coefficients in the presence of high but not perfect multicollinearity may
result in all of these except :

(I) High confidence interval for the estimates

(2)  Almost all the estimates are statistically significant

(3) Ahigh R?

(4)  Estimates are all BLUE

Options:

1.1

2.2

3.3
4.4

Question Number : 83 Question Id : 5330725862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fog 1 g (Multicollinearity) Tl B T YT T 1 AR A TR 3 g
Bfl § W €

(1) &A% 3% fovama e (Confidence Internal)
(2) e g e e g @ e §

(3) =R

(4) & = (BLUE) %



Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 5330725863 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Position of points O (0, 0) and P (2, -3) in the region of graph of mequation 2x—3y<5 will be :

(1)  Odinside and P outside
(2) O and P both outside

(3) Oand P both inside
@

4) O outside and P inside

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id
Correct Marks : 2 Wrong Marks : 0

: 5330725863 Question Type : MCQ Option Shuffling : No

T 20— 3y <5 o Uk ok & H fagal O (0, 0) S P (2, —3) %1 feafd 2l -

(1) O =T 3N P AR
(2) O&RPTH R
(3) O &R Pl &=
(4) O 31N P &=
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id
Correct Marks : 2 Wrong Marks : 0

: 5330725864 Question Type : MCQ Option Shuffling : No



Testing for cointegration is performed by :
(1) Chow test

(2) Phillips-Peron test

(3) Engel-Granger test

(4) Error-correction mechanism
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 5330725864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

He-guTFe o fau wier frafataa gr fenfea g €

(1) =3 gdem
(2) TwRfee-TTH e
(3) USSR W&
@ Fegom
Options:
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 5330725865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heteroscadesticity may arise due to various reasons, Which one of the following is not a reason ?
(I)  Extremely low or high values of X and Y co-ordinates in the data set
2)  Correlation of variables over time

(
(3) Incorrect specification of the functional form of the model
(4) Incorrect transformation of variables

Options :
1.1
2.2
3.3



4.4

Question Number : 86 Question Id : 5330725865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fer erenfeet (Hetroscedasticity) afvet ol 9 &1 ek & fmaferfi o § -1 50 0 78 ¢
(1) SATEH XY T o s7edd 9 1 3

() T qY R ¥ T

(3) WiEA o Fric &9 % T fofeu

(

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330725866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To test Hy : w=py when both p, and o are unknown, the relevant test statistic is :

¢ _ *
m s
Jn
T
(2 n-1 g
|
L - X
@ S
Jn
( R i 3
{4) n—1 if
n
Options:

1.1
2.2



3.3
4.4

Question Number : 87 Question Id : 5330725866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%:p=uﬂﬁﬁ-mﬁ,ﬁﬁu3ﬂiﬂﬁmﬁ,mﬁquﬂmﬁz

to_q= o p
m "
Jn

th1= x_.fu
(2) i
n-1
t,= Z_Ho
(3) .
n
= T 4o
{4) n—1 g
n
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330725867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gross domestic Product or GDP is defined as :

(1) GDP = Aggregate Domestic Income + Indirect Taxes + Depreciation

(2) GDP = Aggregate Domestic Income + Indirect Taxes — Depreciation

(3) GDP = Aggregate Domestic Income + Depreciation — Indirect Taxes

(4) GDP = Aggregate Domestic Income + Depreciation — Net Domestic Product (NDP)

Options :
1.1
2.2



3.3
4.4

Question Number : 88 Question Id : 5330725867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el TN IS A1 S S, I AR ufanfud foer o e
(1) SHE =Fa T AT+ AT F + Jeagd
(2) SHELH =Fa T AT+ AUAY T~ Teagd

(3) SHELT. =Fa e T+ ToTgH — AHTH F
(4) SHEW =Fd WG S+ oI - Faa =g sere (TE)
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330725868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of efficiency wage theory was developed by :
(1) Yellen and Stiglitz

(2) Jan Tinbergen

(3) Allred Marshall

(4) Vilfredo Pareto

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330725868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frageral gl fagia &1 sayron g g fasfaa =6t e
(1) o[ &R feferes

(2) 4 fEatsH

(3) HAEHE "IV

(4) TR U=

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 5330725869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Cobb-Douglas production function :

q = AL® KP, where A, a and B are all positive, the parameters « and § measure
(I)  Output elasticities of inputs

(2)  Elasticity of substitution

(3) Input price of output

(4) Technological condition

Options:
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 5330725869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIH-STeTd & Icded FoA H
q=AL* KBl A, o 3R g Tt ene €, o 37 8 W19 €2 1w €

(1) Tfafed =t 3 Arasier

(2) wfqEdT= =i @

(3) IUEA F FfEfR (inputs) F g4
(4) RN fegfa

Options :



1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330725870 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following initiatives launched by the government in order of their starting year from
the oldest :

(A) Antyodaya Anna Yojana

Mid-day Meal Scheme

C) National Food Security Act
D) Revised Public Distribution System

) Targeted Public Distribution System

@)
(
(
(£

Choose the correct answer from the options g‘iven below :

(1) ) () () (4) ©)

@ (A), (), ) & ©
(@) (E) D) B)(A) (C)
() (), (A), D) E) ©
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 5330725870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR G Y &1 T Freferfan veell 1 wavem § ST YT & ad 9y e
(A) e 37 A

(B) AR WIS ArSH ( e € firet Trstan)

(C) T B e S
(
(

A feu T feredl H & W& SR A =M HIA
(1) D) (B), (E), (A), (C)
(2) (A) (8), D) (E) (©)
() () D) (B), (

(4 () (4) D) (E
Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 5330725871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fnllowjng events from the date of their happemjng starting from the oldest :

(A) IRDA Act passed in Parliament

(B) Concept of financial inclusion introduced in Banking sector
(C) Global trust bank merged with UTI Bank

(D) 364 - day treasury bill introduced with market related rates
(E)  Fiscal responsibility and Budget Management Act Passed
Choose the correct answer from the options given below :

(1) (0, (&), ©), ) (B)

@ (©)(©) () (A) ()

(3) (E), (D) (), (A) (©

(4 (A).(©) O) (E) (B)

Options :
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 5330725871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T oot § Y T g SRSl % 39k o il aRE o SR TR :
(A) HHEH oM. RE sffam aitd ge

(B) sife & H faria GUEH i Wepew I F TG |

(C) Tolieiel 2%2 oieh 1 4.71.57, o W foord getl |

(D) IR Heilyd &l o |9 364~ ot fadiaer @man |

(

E) USY Iweide iR a9 Jee sfufm g g
= few U fereredl ® 9 W S A T H
(1) (D) (A), ©), (E), (B)

(2) (D) (), (E), (A), (B)

(3) (E), (D) (B), (A) (C)

4) (A) (O, (D), (E), (B)
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330725872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aﬂ'ange the following taxes n the sequence in which they were introduced starting from earliest
to latest ?
) Commodities Transaction Tax

B) Securities Transaction Tax

Minimum Alternate Tax
) Angel Tax

Choose the correct answer from the options given below :

(1) ) (A) E), ®) ©

(A

(6)

(C) Banking Cash Transaction Tax
D)

(£



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330725872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T Teel ¥ YE FOF G A % 0§ Fefafed F F1 ST eI % R amed

(A) o - R
(B) Wfa¥fd T-c7
(C) lfehT Tehg <7 o
(D) M Il F
€) ©ER
7 e U foreped | | Wé 3T F T i
(1) (D) (A), ) (B), (O
@ (), (C) (A) ), D)
(3 () (B) (©) (E) (A)
4 (€, (D) (B), (A) (B

Options

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 5330725873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following combinations of theorems and their subjects are correctly matched ?
(A) Modigliani - Miller theorem : Price of goods and real return to factor
(B) Dorfman - Steiner theorem : Advertisement expenditure

(C)  Arrow’s impossibility theorem : Social choice

(D) Stolper - Samuelson theorem : Capital structure

(E) Fishers separation theorem : Profit maximisation motivation

Choose the correct answer from the options given below :

(1) (4) (®) (D) orly

@ () (D), () only

B (4),(0) () only

@ @) () (E)only

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330725873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafas # 4 31 & fagia o 37 fawa % 5ei &1 foem w8 €7

(A) wifefsastm - frer fegld : awqell &1 SHa iR W¥E & aredias &
(B) S - RER fagi : foqrm =

(C) T 1 srEvea fagia : Jmfste =4

(D) Rrew - §egerad fagid : gsi 9=

(E) TR -0 fagia : w1y stfespan 0 fogia

e few u forsped # § W W F = HC ;
(1) %9 (A), (B), (D)

(2) 9 (B), (D), (E)

(3) e (A), (C), (D)

(4) & (B), (O), (E)

Options :

1.1

2.2

3.3



4.4

Question Number : 95 Question Id : 5330725874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in correct chronological order starting for the oldest to the latest :
A)  World Trade organisation (WTO)

(

(B) General Aggrement on Trade and Tariffs (GATT)
(C) New Economic Policy of India (NEP)

(D) Introduction of goods and services tax (GST)

(E) Establishment of NABARD

Choose the correct answer from the options given below :
1) ) E) A, D
@ ®) ® ) A, 0
B ® D)@ © A
W (4,60 6 0)

)
)
)

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330725874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea 1 998 Tedl ¥ Y% W 9od 9% % el HThIHER e
(A) Tove =R HeA (g, 21E1)

(B) =R iR 2Rw Heiell A= :m ()

(C) YR = 73 a7fdfes Hifa (T.3.)

(D) W& SR Fa T o YEH (S TE )

(

E) eTe 1 T
i feu U foreredl o 9 W I F1 FH FHIC
(1) (B), (©) (E), (A), (D)
(2 (B) (E), (C) (A) D)
(3) (B), (D), (E), (O, (A)
4) (A (B), (), (B), (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330725875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in correct chronological order starting from the earliest to the latest :

(A) Coase theorem
(B) Hotelling principle

(C) Nash equilibrium

(D) Kyoto Protocol

(E)  Establishment of [UCN (International Unien for Conservation of nature)

Choose the correct answer from the options given below :

(L) @), (E) (©) (4), O)
)

(2) (), () (A) €, D)
@) ®) (), ) () ©)
(4) (), () (A), ), D)
Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 5330725875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



freferfad &1 9o Teel Y% 0 99 918 F Tel HIhHER TRy :

(A) HF (Coase) THE

(B) erfom fagia

(C) ¥ Hger

(D) e erHA

(E) S HLA. (Wi G & fIq Sferiea §) i L
i feu T ferpedl @ 9 W ST H = HI
(1)  (B), (E), (C ( ) (D)

2)  (B), (), (A), ©, D)

(3) (B (A) { ) (), (©)

4 (B, (B). (A) ©), (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 97 Question Id : 5330725876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following theories in correct chronological order, starting from earliest to latest :

(A) Patinkin's Real Balance Effect

(B) Reformulated quantity theory of money
(C) Baumol's theory of money

(D) Cash transaction approach

(E) Cash balance approach

Choose the correct answer from the Dptions given below :

() () (B) (B), () (A)

Options :
1.1
2.2
3.3



4.4

Question Number : 97 Question Id : 5330725876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafiEa =1 FeqegH 9 9% FF AUd & el FohH | oy
(A) feAfRT = arefas ¥ gee

(B) =T =1 YH: TAfg wrsn fagia

(C) STl =F1 Hg1 <kl fasid

(D) %% W59 IYFH

(E) Thg A9 SUITH

= fou 7o foeredi ° ¥ WE 3T F 99 HIfU

(1) (D), (B), (B), (C), (A)

(2) (E), (D) (A), (B), (C

)
(3) (B), (D) (C), (B), (A)
4) (O, (D), (E), (A), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330725877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following theories in correct chronological order, starting from earliest to latest :
(A) Absorption approach

(B) Factor Price Equalisation theory

(C) Reciprocal Dumping Model

(D) Leontief Paradox

(E) Immiserizing Growth Theory

Choose the correct answer from the options given below :

(1) (), (D), (A), (E), (©)

@ () (A) @) () E)
(3) (), (D), (B), (A), (©)
() ) (A ©) () B)



Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330725877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefea fagial &1 Tayem § Y% T SFRa & Tel FIeHRHaR e ;
(A) e (Absorption) SUTH

(B) HIHF THiwWd HHgeda fagid

(C) 3 1A Ared (Wawiea i 7rea)

(D)

(

D) fadifew fattemmg
E) shrmEfs 7y fagid
99 fou o fowedi § 9 WE ST F T FIfeU
(1)  (B), (D), (A), (E), (C)
2) (D) (A), (B), (C), (E)
(3) (E), (D), (B), (A) (C)
(4) (D), (A), (©), (E), (B)
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330725878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Acts in correct chronological order, starting from earliest to latest :
(A) Chit Fund Act

(B) Export Import Bank of India Act

(C) Prevention of Money Laundering Act

(D) National Housing Bank Act

(E) Regional Rural Banks Act

Choose the correct answer from the options given below :
() (E)()()(D (l

@ O ©) @) A

G) ( ) (©), (B), (), {f)
(@) ) (), ), ©), B)

Options :
1.1
2.2
3.3
4.4

—_—

Question Number : 99 Question Id : 5330725878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefaa st i T 9 T8 & ST & Tel FIeHATaR TR
(A) Toe wE siufww

(B) YR Fafa Tmm o

(C) *A wneM fam sifufgm

(D) UL aTaTgA S sl

(E) & e s stffam

A feu U foehed § | WE I H A5 T
(1) {E) (B). (A), ©), (©)

(2) (B, (D) (C), (B), (A)

() {D) (©) (B), (E), (A)

4) D) (A) E), (©), (B)

Options :

1.1

2.2

3.3



4.4

Question Number : 100 Question Id : 5330725879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the names of following economists chronoliogically in order of their Nobel prize awards
starting from earliest to the latest) :

A} Arthur Lewis
B) Gunnar Myrdal
C) Milton Friedman
D) AV. Banerjee

E) Lawrence Klein

——— — o — — —— —

Choose the correct answer from the options given below :
(1) @) (©) (A) E) ©)

@ (), (), (A) D) (E
(3) (B), (A), ©), E). D)
() (A), (B) ) &) D)
Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 5330725879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



freferfaa siefsnfeat 1 3% Aoa TR fou S & FesRaTar Tl
(Felge § Y% BrRT 3FIA)

(A) R wfed
(B) TR faca
(C) Theed wigH
(D) UaH, s
(E) @ &
A feu U foshedi H ¥ Wet IR F1 97 FHIC ;
(1) (B), (©), (A), (), (D)
(2)  (B), (O, (A), D), (E)
(3)  (B), (A), ©), (E), (D)
4 (A), (B), (©), (E), (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330725880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aﬂ'auge the fullowing itemns in order of their construction starting from the first stage to the last
slage :

(A) Budget

(B)  Utility analysis

(C) Demand curve analysis
(D) Indifference curve analysis
(E) Consumer's equilibrium
Choose the correct answer from the options given below :
(1) ©) ) A), E) ©

@ (&), ®) C, O)

() (8), (D), (B) (C) (A)

(4 @) D) @A) E) ©
Options :

1.1



2.2
3.3
4.4

Question Number : 101 Question Id : 5330725880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfa wei sl Sk e o 30 Yeel W0 | Hfow =0T o STER T
(A) o

(B) IwAfTal fageram
(C) i = fagerym

(D) e o fogermo
(E) USRI Her

A few T foered § 4 wé S 1 T Hif
(1) D) (B), (A), (E), (O)
(2) (A) (B), (C), (D), (E)
(3)  (B), (D), (E), (O), (A)
4) (B), (D) (&), (E) (O
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 5330725881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct chronological sequence in ascending order (earliest to latest) :
(A) FRBM act

(B) Nationalisation of banks in India

(C) Second five year plan

(D) Small Industries Development Bank of India (SIDBI)

(E)  Export Import Bank of India (EXIM Bank)

Choose the correct answer from the options given below :

(1) (©), (B), (B) (D), (A)

@ (©, (B) (A), @) (E)
@) (©) (4),B), D) E
4 (€, (B) (A), (B). D)
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 5330725881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feferfie =1 el A (Y=ITH 9 Y% k) Hel HephAaN oey ;
A) THIALHTH. AR
B) YRa W S 1 U

D) 9Rdr &g gam fasm o (faed)

E) W fafa-amm 3% (ufem §)

et fem T foehedi W 9 T S A = H

(1) (©), (B), (E), (D), (A)

2) Q) )()(J(E
b (

Options :
1.1
2.2
3.3



4.4

Question Number : 103 Question Id : 5330725882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following expressions in terms of increasing order of magnitude [given:a >o,b>o,
X >0

(A4) y=¢

(B] y = ol +bx

b

(C) !’ & Ei’l +:17

ol
0 =

y=e *

(E) = Ea+2b.t

Choose the correct answer from the options given below :
(L) (©) (A). ©, () ()

(2 (D) (A), ({), (C) £
(3 ([©)(®) (©(A) (E)
() (E), (), (C), (A), D)
Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 5330725882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT o @ §U R o STIER ffried sifyersehl &l safedd s |
™ &:a>0,b>0,x>0]

(A) y=+

{B) ¥ = E.a+lu

b
© y=e"
b
B g

{E) e E,a+2!.:x

A fqu @ 'ﬂ@ﬂﬁwmwﬁﬁq:

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330725883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al'range the £ Ullowing norms of tax revenue devolution formula of the Fifteenth Finance Commission
in order of their weightages slarljng from the highest.

(A) Income distance

(B) Area

(C) Demographic performance
(D) Forest and Ecology

(E) Tax effort

Choose the correct answer from the options given below :
(1) (A), (B), ©) D) E)
@ (A), (D), @) & ©
@) ®) (A) ) €, )
@) () (D) (A), (B), (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330725883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o AT 5 0 T T W 3 e S ) 7 S ST 9 4

Options:
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330725884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order starting from earliest to latest :
(A) AW, Phillips : The Phillips Curve

(B) JM. Keynes : General Theory of Employment, Interest and Money
(C) Adam Smith : Theory of Growth

(D) John F. Muth : Rational Expectations Approach

(

E) Robert M. Solow : Growth Model

Choose the correct answer from the options given below :
(1) (A) (B), ©), D), (E)

2) (O, (B), (B), (A), (D)
3 ®)(4) ©, B O
4) (E), (D), (O), (B), (A)
Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 105 Question Id : 5330725884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea =i 9=y 9 % FF TEaT F FEEHTER ey
(A) TUE]. TRiAH : [Hidey ok

(B) SLUH.THMY : SE ANl 3% TRAEHE 3202 U WAl
(C) T=H oY : AW A% WY

(D) SF TF. HY : drfches Jeard SYFTH

(E) @2 UH. |l : foshmy Aiga

A feu T farekedi © | WE ST = e

(1) (A), (B), (©), (D), (E)

(2 (©), (B), (E), (A), (D)
(3)  (B), (A), (O), (E), (D)
(4) (E), (D), (O), (B), (A)
Options :

1.1

2.2

3.3



4.4

Question Number : 106 Question Id : 5330725885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the correct statements from below :

(A) According to environmental valuation theory, option value = future use value + bequest
value + vicarious value

(B)  Adverse selection leads to market failure

(C) Contingent valuation method is a type of cost benefit analysis

(D) Public good and common goods have same characteristics

(E) Internal rate of return is a criterion in cost benefit analysis

Choose the correct answer from the options given below :

(I) (A)and (B) only

) (A)(0) (D) oy

() (A), (B) (E) only

(#) (), D) () only

Options:

1.1

2.2

3.3

4.4

Question Number : 106 Question Id : 5330725885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefeigs @ 9 981 %9 1 TEeH i

(A) TR e A g o Srem fomrey wed = el SUa e + S e + Wit e
(B) et = % IO TR fevee 2

(C) T T Toreeleol o ek Web vt g e wgfa

(D) et & 4R A T8 § A0 ferdan

(E) - fogery § U WIOQUE W o o i

e fe T foeeet o & W SRR A1 T I
(1) o (A) ¥R (B

(2) % (4), ) (D)

(3) o (4), B), (B

(4 ¥ (), D) (B)

Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 5330725886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Inflation confers no benefits on society, but it imposes several real costs. What among the following

are costs of inflation ?

(A) Shoeleather costs associated with reduced money holdings

(B) Menu cost associated with more frequent adjustmental prices

(C) Increased variability of relative prices

(D) Unintended changes in tax liabilities due to nonindexations of the tax code
(E) Arbitrary redistribution of wealth associated with debts

Choose the correct answer from the options given below :

() (A) @) (C)only

) (0, D) ©)ony

() (B), (D) (A) only

) (&) (), (), D) ()
Options :

1.1

2.2



3.3
4.4

Question Number : 107 Question Id : 5330725886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TR T A IS T Tl <o, e 9 e vt e a <l €, Fefefin o @ B
T 3 0 & 7

(A) 7 51 e 3 T g YT

(B) aHfors g WS Frel & WY Hag H

(C) e FPdi 1 98] g5 Tauirerl

(D) o Hfe % T-GarFiar o F0 H IO H SN aeeTa

(E) 0 % §19 Feig FROf o FAE A o

A few o forredt # @ Wt o 0 o A
() W()()(C)

(2) %A (C), (D) (E)

() = (), (D) (4

() (A) (), (C), D) (E

Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 5330725887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following statements regarding the non Banking Financial Companies in India
(NBFCs):

(A) NBECs are registered under the RBI Act 1948

(B) NBFCs cannot accept demand deposits like commercial banks

(C) NBFCs have to invest a specific percent of their assets in unencumbered approved securities
D)

NBFCs which engaged in merchant banking and portfolio management services are governed
by SEBI

(E)  Every NBFC has to create a reserve fund.

Choose the correct answer from the options given below :

() (A) ) (C) (D) onl

(2 (B), ), (D), (E) only
(3)  (B), (D), (E) only
() (B), (C), (E) only
Options:

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 5330725887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 3 it fora abforll (ot ) 3 el Freifefian wor w fomm i

(A) WSTER, e o, afufrm 1048 % el vt €

(B) TR, affen S i T W T WER T A T ¢

(C) TN TR, F o enfecdi 0 e fofore wawa Ffe arpifen Wasfedl # Fom e €|
(D) TR, 41 ] ol W e el o sweia € S g e 2 €

E) ¥k A TR, 9w atn fify 9 0 2 €

7 feu o ot @ W I A T H

Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 5330725888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

India is a member of which of the following institutions of the world bank group ?
A) International Centre for Settlement and Investment Dispute
B

(A

(B) International Development Association

(C) International Finance Corporation

(D) Multilateral Investment Guarantee Agency

(E) International Bank for Reconstruction and Development

Choose the correct answer from the options given below :

(1) (A), (B), (C) only

(2) (B), (Q), (D) only
3 (), (©), (D), (E) only
(4) (A), (B) D), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 109 Question Id : 5330725888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



aRa fava d% e & fafafes g § & foras ge=1 €2
(A) UL foer iR faw faar =

(B) siqudia forekra wEifaweH

(C) HaUsdE form fm

(D) =gU&™ ferer Mt wsidt

(B) iUy qAfwor 3R fasmg s

A feu T ferredl ® | W& ST A =91 il
(1) e (A), (B), (C)

(2) A (B), (O), (D)

(3) = (B), (O), (D), (E)

(4) = (A), (B), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330725889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statements and identify the correct ones ?
(A) According to the accelerator models, investment demand is proportional to the change in

GNP.

B) The real rate is the nominal rate of interest plus the inflation.

) The higher the real interest rate, the higher is the rental cost of capital.
) Investment i a stock concept
E) Rate of interest is a flow concept
Choose the correct answer from the options given below :
() (8)and (C) only
(2) (A)and (B) only
() (A)and (C) only
() (A), (B) and (C) only
Options :
1.1
2.2



3.3
4.4

Question Number : 110 Question Id : 5330725889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea wuAl ™ faar Fifau R 9wl # TeaH Fii ;

(A) T Higd & AR e o S d, # uftedd % oo ek € |
(B) Aok G TS 1 Hichfash <X ST HEEwhITa GF &l ¢ |

(C) nedfarer =aret g foreel atferep Bt il =ht fereran <X 3t sife 2 |
(D) o9 T W STauRm B |

(B) ATl € U Wele STeHI 2 |

99 feu o fasredl § | WEl ST F T Hi0
(1) dd (B) 3R (C)

(2) S (A) 3R (B)

(3) FFE (A) R (C)

(4) e (A), (B) AR (Q)

Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 5330725890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the correct statements from below :
A)  First UN conference on human environment was held in Norway in 1972,

(

(B

(C) Pollution tax was suggested by Pigou.
(

(

—

In [=PAT expression, P stands for poverty.

D) Population growth follows a logistic distribution.

E) Hedonic pricing is an environmental valuation method used in valuing tourism sites.
Choose the correct answer from the options given below :

(1) (A), (D), (E) only
(&) (©) (D) (E) only
B) (A) (B) (B) only
(4) (©), (D) only

Options :

1.1

2.2

3.3
4.4

Question Number : 111 Question Id : 5330725890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et o § Tl el bl T

(A) el AT Heiel Eel 7.0, FwHe 1972 5 A H gl o)

(B) 1=PAT sif¥ism & P Trret 1 <o |

(C)  TeuwI &3 1 g 9 A fean e

(D) e 3 % 1w famm & ¢

(E) vt e fufe wgf o e v e o e T e o e i o fe
1 fe g foredt o 4 W 3R 1 R I

(1) @@ (A), (D), @
() @ (C) (D) (E)
() e (A), () (E)
(4) @ (C), (D)
Options :

1.1

2.2

3.3



4.4

Question Number : 112 Question Id : 5330725891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The seculzu' deterioral‘ion of terms of trade for low develaped countries has been expla'med by :

(4)

(B) HW Smgm
(C) Adam Smith
(D) Raul Prebisch

(E) Jagdish Bhagwati

Choose the correct answer from the options given below :
(1) (B), (D), (E) only

(2 (A),(B) (D) only
(3)  (A) (D), (E) only
() (C), (D), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 5330725891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofeq forerfaa il o for samar o1 ol 1 faa foehfa o Foet o6 g woree fopa 77
(A) S.H, e



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330725892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Gravity Model of world trade, which of the following components of the two countries
determine the volume of trade between them :

(A) Gross Domestic Product
(B) Distance

(C) Foreign exchange rate
(D) Foreign trade intensity

(E) Foreign investment

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (B) and (C) only
() (A)and (C)only
(4) (A)and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 5330725892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ferve R 3 o) wrew & Irgm 29 % Fretfefas § 4 B8 vew 39 @ SR # we fufe
WAL

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330725893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the correct statements from below :

(A) When price consumption curve (PCC) for a good is parallel to horizontal axis, the demand
function for the good is unitary elastic.

Given log D=a+ log i+ log p then elasticity of log D with respect to log pis y

) The condition for stability in simple Keynesian system is O<MPC<1

D) The fixed cost curve is a rectangular hyperbola
hoose the correct answer from the options given below :
1) (A) (C)only
) (A),(0), (D) anly

) (B), (C) only

A), ), (C), (D)
Options:

1.1
2.2



3.3
4.4

Question Number : 114 Question Id : 5330725893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiaa o & W8 Fed ) TEE

(A) 9 fod) o 1 e ST (A, dfed orer & TR & €, o F for A e
Ufereh &9 ¥ el & €|

(B) WW%lUngﬂﬂlngy-wlogpﬁilogp?ﬂﬁﬁﬁlng[)ﬁﬂ?’hﬂﬁﬂﬁﬂﬁl

(C) 19 %! e oredt ¥ oo a4 feafg O < MPC < 1%

(D) feeR T 9% W SR SHfEH (hyperbola) £

7 feu o ot # © W IR T i

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330725894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following statements :
(A) If a market generates a side effect or externality then the market solutions are inefficient.

(B) If a market is efficient, then the quantity produced in the market maximise both producer’s
and consumer’s surplus.

(C) Consumer’s surplus is the buyer's WP minus the seller’s cost.

(D) Smith’s invisible hand concept implies that competitive market outcome generates equity
among the members in the society.

(E) Competitive market equilibrium is Pareto efficient.
Choose the correct answer from the options given below :
(1) (A), (), (E) only

(2 (A), (B) (D) only
() (A), (E) only

(4)  (B), (D), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 5330725894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e et et T feram e
(A) e T ST T 7 99 (side effect) 21 TR 30 0 & G ST WHIEH STHAEH ¢
(B) e . AT <& &, T AT H Seaieel W e iR SYNGRN < o SR Bt s SRR €

(C) 3o A9 (Consumer’s surplus) JUIE 51 Tl < 1 gog a9l fokal 1 T A S
ik

(D) To0e %1 457 @19 ST o 5 & o e eI a1 T JO o el % o g
frn 2t €1

() el T 31 WY T F (efficient) €|



Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330725895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A feasible solution in a linear programming problem (LPP) :

(A) Must satisfy all the problem’s constraints simultaneously
(B) Need not satisfy all the constraints, only some of them

(C) Must be a corner point in the feasible region

(D) may or may not optimise the value of the objective function
(E) Must be greater than or equal to zero

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (D) only
(3) (A), (E) only
(4)  (B), (O), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 5330725895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s G e (T 9. ) H U 9w (Feasible) THMHH €
(A) G THEINTG AEATIST 1 Th Y FHEH HA FMfed |

(B) Wl STEIarsl 1 Tel, Fad 3TH W FS H GHIMH HAT =MfeT |
(C) =Feerd &= H Teh shI-R @ge 8T =feq |

(D) o8 9% T o & God h] $2an o A1 F6l o1 Gkl ¢ |
(E) YA ¥ Yk 91 35k a0 <1 =1 |

= fou v fosredi ® 9 WEl 3™ S =9 Fife

(1) s (A), (D), (E)

(2) = (A), (D)

(3) I (A), (E)

(4) %9 (B), (O), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330725896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following targets of National Health Policy 2017. Choose the correct objectives to be
achieved by 2025 :

(A) Infant Mortality Rate : 30

(B)  Under Five Mortality Rate : 20

(C) Maternal mortality rate : 100

(D) Total Fertility Rate : 2.1

(E) Life Expectancy at Birth : 70 years

Choose the correct answer from the options given below :

) (A) () (C)only

) @) (), 0)ony
() (4) () (E) only
() (©), (D), (E) only
Options :

1.1

2.2



3.3
4.4

Question Number : 117 Question Id : 5330725896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T T i 2017 % e e W o S| 2025 7@ 9 6 9 9 98 % @
W'ﬂﬁﬂl
(A) FRFR:30
(B) W | % oM H G R 2
(C) WH 7 & 100
(D) Fel T ;2.1
(E) ¥ o T4 e e ; 70
mﬁqwh&ﬂnﬁqﬁﬁmwm:
1 A) () ©)
B), (C), (D)
(©, ()
Q), D), (E)

-2

a’g’m

() (
2) (
(3) (A),
(4) ©
Options :
1.1
2.2
3.3

4.4

Question Number : 118 Question Id : 5330725897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following statements :

(A) Ecological footprint is a measure of human demand on entire ecosystem

(B) Top down approach to development focuses stress on community participation

(C) Millennium Development Goals (MDGs) were assumed to be achieved by year 2016
(D) Sustainable Development Goals (SDGs) comprises 17 goals

Choose the correct answer from the options given below :

(1) (A), (D) enly

(2) (), (B), (D) only

() (A) (©), (D) enly
(@) @) 6 (© D)
Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 5330725897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreifcifign ol W o i

(A) ffefo v (sHeifomre Fefye) Sy withefet 67 (3 fem) Woam 10 M 2
(B) W%WW@[W@W(Topdomappmach)mﬁ?wmﬁméﬂél
(C) & 2016 T Hewres] foerr @l (MDGs) 1 T T 1 AR 1 T4 411

(D) T ferr @t (SDGs) 17 7 Wit €1

el fou U foaredl o 9 W S T Ff
(1) % (4), D)

() % (4),(B), (D)

(3) %@ (4), ), (D

@ (&) ®) (©) D)

Options:

1.1

2.2

3.3

4.4



Question Number : 119 Question Id : 5330725898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following sustainable development goals and their objectives and say which ones are
correctly matched ?

(A) Goal 7 : Affordable and clean energy

(B) Goal 10 : Climate action

(C) Goal 13 : Reduced inequality

(D) Goal 14 : Life below water

(E) Goal 15 Life on land

Choose the correct answer from the options given below :

(1) @) () 0)ony

@ (©), (D) (E) only
() (B), (C), (E) only
(4) (A), (D), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 5330725898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fewfeifign oY foermg ctedl oii 3o Sevdl T forem i 3l aared B | 1 el o foen

™!

(A) W7 T 3N T I

(B) T 10 : T FE

(C) T 13 : S FH F

(D) % 14: ¥ & Fd S

(E) o 15 : 9" T o

Al feu T fored § 9 WE S A T HI ;

! B), (C) (D)
C), (), (E)

B), (C). (E)

A), (D), (B

%’%”%%“

(
2
(
(4

) (
) (
) (
) (



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330725899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/are possible reason(s) for surplus in balance of payment ?
(A) Decline in imports

(B) Decline in interest rate

(C) Increase in export

(D) Increase in income tax

(E) High outward foreign direct investment

Choose the most appropriate answer from the options given below :
(1) (A), (C), (E) only

2 (A)(B) C), (E) only

) ®) () () (D) only

(4) (A), (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330725899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A Taer § s % fen Frefefea § 4 #i9 w8 dafad s /82
(A) 3 # free

(B) =S X ¥ free

(C) faid # 3fg

(D) = * H g

E) = sfeddl faceft weaer fem
e feu o fasredi ® 9 WE W H T Fie
(1) W{A) { ) {)

() % (A), (B), (C) (B)

(3) W{B)(){}{D)

(4) %@ (A), (©

Options :

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 5330725900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the following which is/are the instruments of capital market ?
A) Venture Capital

(

(B

(C) Certificate of Deposit issued by commercial banks
(

(

R

Treasury Bills

D) Global Depository Receipts
E) Inter Corporate Deposits
Choose the correct answer from the options given below :

(1) (B), (D), (E) only

(2) (A), (D) only

(3)  (A), (B), (D) only
(4)  (A), (D), (E) only
Options :

1.1

2.2

3.3



4.4

Question Number : 121 Question Id : 5330725900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafas § 9 =9 /8 gsi 9 % ST g/ 2

(A) =T gsht
B) T faa

(C) =nforf=rer Sf=hl BRI ST STAT FHIOT-9

(D) afees fag wifa

(E) iaX &Mz e

A9 feu 7o fasredi W | We UG ST T HifoQ
(1) e (B), (D), (E)

(2) FEE (A), (D)

(3) <Fa (A), (B), (D)

(4) % (A), (D), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330725901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among following committees, was set up for Banking sector reforms in India ?
(A) Jalan Committee

(B) Ghosh Committee

(C) Saraf Committee

(D) Gokaran Committee

(E) Tarapore Committee

Choose the correct answer from the options given below :

(1) (A), (B), (D) only

2)  (B), (C), (E) only

3) (), (D), (E) only

(
)
(4)  (A) (D), (C) only



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330725901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o @ -4 T & AR i guRl & fo i = T

(A) ST |iHfd
(B) ®m wHfd
(C) | |iHfd
(D) TR G
() dRMR Gfifd
99 feu o fasredi § 9 WE ST F T FIf0
(1) s (A), (B), (D)
() F= (B), (C), (E)
(3) ad (C), (D), (E)
(4) ¥ (A), (D), (©)
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 5330725902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following statements regarding Regional Rural Banks (RRBs) in India :
) RRBs were setup on the basis of the recommendation of Narasimham working group, 1975

The largest proportion of the equity of RRBs is held by its sponsor bank
) NABARD coordinates all the activities of RRBs
) RRBs are lead Bank
) RRBs are provided refinance facilities through NABARD
Choose the correct answer from the options given below :
(1) (A), (C), (E) only
(@) (A), (B), (C), (D) only
() (B), (C), (E) only
(4)  (A), (E) only

Options :
1.1
2.2
3.3
4.4

(A
()
(C
(D
(E

Question Number : 123 Question Id : 5330725902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G § & T o (SRS, & aR H Fefafan o W fomm i

(A) ARSI TideH FE G, 1975 H1 FHEIET o SR | wifud fean 7
(B) SRR, i 3l 1 Talfkeh oF[I SHF WA o & T A &)

(C) TaTE SRR, F Tt FIFE H FH=T FA |

(D) ST, st o €|

() SRARS, F1 & F WoAm § : foreraw gafend vem 1 w6 ¢

i fou U fereredi o 4 WE IW =9 FC

() & (A) (), (B)

(2 (A), (B), (C), (D)
(3 (B), (C ) (B

{ (

)
)
)
4) A), (E

%”%’%

Options :
1.1
2.2
3.3



4.4

Question Number : 124 Question Id : 5330725903 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Consider the follnwing statements :

MC schedule is obtained by subtracting successive values of TC only

(A)
(B) MC schedule is obtained by subtracting successive values of either TC or TVC

(C) MC schedule is obtained by substracting successive values of either TVC or TFC
(D) The area under the MC curve equals TC

(E

e

AVC eqmls AC minus AFC

Choose the correct answer from the options gwen below :

(1) (), (D), (E) only

(2) (A), (D), (E) only

@) (A) (©), (D), (E) only
(4) (A), (O, (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id
Correct Marks : 2 Wrong Marks : 0

: 5330725903 Question Type : MCQ Option Shuffling : No



et o W foram i

(A) T A ST H0 Pl A H A A H TR T A B

(B) I TG S 1 et TG 1 et WGt I ah h1eeh FF ah1 STl W fea 7 € |

(C) S T APl A et el T 41 et R S 6 AR W] ) SRR 91 o
Bk

(D) T R 5 el 1 4% i A F SR A

(E) it eier T, SR T AU el R e 3 SR o S A €

4 few T ol W W WE W A T F

(L B), (D), (E)

2 A), (D),

(3 A), (C), (D), €

( A), (C), (D)

|

)
)
) o
(

4 &3

4
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330725904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the fnllnw'mg statements regardjng public gnod :
A) Public good is nonexclusive

B) Public good is national defense

D

E) Public good creates inefficiency in consumption

(

(

(C) Public good is rival

(D) Public good provides benefits to people at non-zero marginal cost
(

Choose the correct answer from the Gptinns given below :

(1) (A) and (B) only

(2) (B) and (C) only
(3) (C) and (D) only
(4) (D) and (E) only
Options :

1.1

2.2



3.3
4.4

Question Number : 125 Question Id : 5330725904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafes o 9 v FuF yeud

(A) HESHE 9% TR-31F (non-exclusive) |

(B) HTESIe o T el T

(C) TrEsifer 3% wfget § |

(D) WEwfe g AR T TR-IFF EHid AT T &1 Y ¢ |
(E) HTasien % ST i STehriemal gisa ohid ¢ |

9= feu 7o fawedi 9 Wl ST F 9 FHIT9
(1) e (A) 3R (B)

(2) e (B) 3T (C)

(3) e (C) R (D)

(4) e (D) I (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 5330725905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - I List - II
(A) Travel cost method (I)  Sustainable development
(B) Stern review (I) Exhaustible resources
(C) Brundtland commission report (Ill) Climate change

) User cost (IV) Environmental valuation

(D
Choose the correct answer from the Dptlcms gl‘. en below :

(1) (AHIV), (B, (O)-(0), (D)-(I1)
(2 (AHIV), (BH(D), (C)-(I), (D))
(3)  (AMIV), (B, (C)H(I), (D)-(1)
(4)  (AII), (B)AIV), (CHI), (D)-(1)
Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 5330725905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G-I | GEii-11 1 fAer #ifse .

gat-1 gi-11
(A) I AT UGl () Haq foF™
(B) =4 R= (I) EHT GE19F
(C) wieeis AN i fue (Ill) Sreary IREe
(D) W& AT (IV) TEfere Feg faui
9 fou o fasredi § © @& SO &1 9949 Fifag

(1) (AHIV), (B)(ID), (O)-(D), (D)-(IID)

(2)  (A)-(1V), (B)-(I), (C)-(LI), (D)-(LIL)
(3)  (AHIV), (B, (O)-(I), (D)-(I)
(4)  (A)-(II), (B)-(IV), (O)-(I), (D)-(I)

Options :

1.1

2.2

3.3



4.4

Question Number : 127 Question Id : 5330725906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 11

(A) Top beneficiary from Foreign (I)  John Von Neuman and Oscar Morgenstern
exchange trading

(B) Competitive equilibrium is (I)  General equilibrium analysis
Pareto efficient

(C) Walras (I) London

(D) Game Theory (IV) First theorem of welfare economics

Choose the correct answer from the Uptiuns given below :

(1) (A)-I), B, ©-0), D-LV)

(@) (AHIV), B, (CHID, (O)-()
() (AHD), (B, (OHI), DF-IV)
(@) (A, B)-{IV), (CHLD, D))
Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 5330725906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Telt-1 9 G-Il 1 el FIS ;
Tt-I -1

(A) Tocsft 7z =AmR # ¥ aned (I) 9 = SR SR aoe
(B)  wfcremeff e T R (efficient) B1 (1) Wu@mﬁw

(C) aTeR™ (1) &

(D) T e (IV) FeA S 1 Teen fagid

< fou o fosred H § Wé I 1 999 Fie

(1) (A, B)-(I, (C)-(1), (D)-IV)
(2)  (AHIV), (B)-(IL), (OHID), (D)-(1)
(3 (AHI), (BRI, (C)-(IL), (D)-(IV)
(4)  (AMI), B)(LV), (O, (D)-(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 5330725907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) NITI Aayog (I)  Tit-for-Tat strategy
(B) R. Axelrod (IT)  Efficiency wage theory
(C) J. Stiglitz (II) K.N. Raj
(D) India’s first five year
plan (1951-1956) (IV) Knowledge support

Choose the correct answer from the options given below :
(1) (A1), (B)-@), (O-(Im), (D)-(IV)

(2)  (AIV), (B)-(II), (OHID), (D)-I)

(3)  (A)-(IV), (B)-(I), (C)-(II), (D)-(II)

4)  (A)(D), (B)-(I), (C)-(I), (D)-(IV)

Options :

1.1

2.2



3.3
4.4

Question Number : 128 Question Id : 5330725907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tell-1 H -1 1 e i
-1 -1
(A) it smEm (I) 9 1 o1 TORI (Tit for Tat)
(B) M. THREE (I) e weigd g
Q) .femfdes (I10) aﬂa LE
D) WRd I Teeil Ge g AW (1951-1956)  (IV) FH

(
A feu U fomredi § @ WE R T FI ;

(1) (A}, B)-(1), (C)-L), (D)-IV)
(2)  (A)-(IV), B, (CHID, (D)-(1)
() (AHLV), BHD), CR(I), (D)
(4)  (A)-(D), (BRI), (O-(Im), (D)-IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 5330725908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) W.W. Leontief (I) Shadow Price
(B) Jan Tinbergen (I) - Consumption Function
(C) ]M. Keynes () Price competition with homogenous products
(D) Joseph Bertrand (IV) Input-output model
Choose the correct answer from the options given below :
(1) (A-1, BHI, (D), DHV)
O (AHIV), (BHD), (CHI), (OHI
B) (AMII), (BHIV), (OHD), DK
() (A-0), BHI), ©HIL) D)-(1V)



Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 5330725908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 9 g1 1 e #ife
gelt-1 g1l
(A) o e, femifew () 9 I
(B) M ferereH (I) 3997 FeM
(C) AT, i (Ill) G 3Gl o G Hiea gaege
(D) T Fge (IV) TIR-3ee Hied
=l feu Tu foredi § 9 W@ W =79 FHifo
(1) (A)I), (B)-(UD), (©)-(1), (D)-{V)
()  (AHIV), (B)-(I), (C)-(IT), (D)(ILT)
(3)  (A)-(Im), (B)-(IV), (O)-(I), (D)-(I)
(4) (A1), (B)-(I), (C)-(m), (D)-(IV)
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 5330725909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11.

List - 1 List - 11
(A) Ad Valorem Tariff (I)  Fixed sum per unit
(B) Autarky () Combination of Ad Valorem and specific tariff
(C) Compound Tariff (If) No trade with other countries

(D) Specific Tariff (IV) A percentage of the value of the traded commodity

Choose the correct answer from the options given below :

1) (A1), (B-(I), (C)HII), (D)-(IV)

2) (AMIV), (BIIL), (CHID), (D)-(D)

3)  (AHIV), (B)-(I), (C}(L), (D))
(A

{
{
{ (

() @-m), B, ©-0). O)-1V)

)
)
) -
) {
Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 5330725909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teit-1 9 -1 1 el shifsi

Teit-1 TEi-11
(A) Te-germ fiw () fd e f Of¥
(B) MR HddH (Autarky) () TS-aarH 3R fafime oRe =1 GHem
(C) T 2w (Il) 37 T & Y FE AR Tel
(D) fafre 2ftw (IV) AR 1 TTE %] % Hed &1 Jiowa
A feu U foredi | 9 WE SO 9 I ;

(1) (A0, (B}-(I), (C-(), (D)-V)

(2)  (A)HIV), (B)-(ILD), (CO)(ID), (D)-(I)
@) (A-IV), B}, (C)-(I), (D)-(I)
(4)  (A)-(), B, (C)-(1), (D)-(IV)

Options :

1.1

2.2

3.3



4.4

Question Number : 131 Question Id : 5330725910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) Endogenous variable (I)  Significance of Autocorrelation coefficient
(B) Count R? (I)  Simultaneous equation
(C) Ljung Box Statistic (Il) Panel data regression
(D) Least square dummy variable model ~ (IV) Logit regression
Choose the correct answer from the options given below :

(1) (AR, B0, (CHIV), DHI)
() (AHI), (B) (), ©-1, (PK-IV)
3) (A
(

A

3

)
)
)
4

(AK
(AY{I), (B0, ©-V), (D))
(A, (B-0V), (CHD), (DHII)

Options :
1.1
2.2
3.3
4.4

)
)

Question Number : 131 Question Id : 5330725910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 ¥ G-Il #1 frem i .
1 11
(A) el = ()  SERICRH U F1 Hed
(B) @2 R2 (count R?) (I)  FT9a GHIH
(C) Tas g wienied () e kel wfaT
(D) I e SHl = Aigd (IV) s gfame

A fou o faedl | § Wé S F1 =994 FI ;
(1) (A)-(Im), (B)(I), (C-(IV), (D)-(ID)
I

(2) (A1), B)-(ID, ©-(1), (D)-IV)
() (A, B)-D), ©)-{V), (D)-{0)
(4)  (AHL), B}-IV), (O-(1), (D)-IL)



Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 5330725911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Rachel Carson (I)  Economics of Biodiversity
(B) Kenneth Boulding (I)  Economics of coming spaceship earth
(C) G. Hardin (IIT) Silent spring
(D) Partha Dasgupta (IV) Tragedy of commons

Choose the correct answer from the options given below :
(A)-(1D), (B)-(D), (C)-(IV), (D)-(II)
(A)-(I), (B)-(IV), (CH(I), (D)-(I)
(A)-(IV), (B)-(ID), (C)-(IID), (D)-(0)
(A)-(I), (B)-(11), (©)-(IV), (D)-(D)

Question Number : 132 Question Id : 5330725911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tet-1 9 Gell-11 1 Aer shife

-1 -1
(A) T FEA () SHAE 3% aEreEafde]
(B) A9 difeeT (II) SRIATRT ST ST SEfory 37ef
(C) . gifed () |rete fegm
(D) e SR (IV) o€l &% Hin4
= feu o fosredl ® 9 W& S 1 999 0 ;

(1) (A1), B)-1), (O-(1V), (D)-(IL)
(2) (A, BHIV), (O(1), (D)-(I)
(3)  (AHIV), (B)-(1D), (O)-(), (D)-()
(4)  (A)-), (B, ©Q-{1V), (D)-0)

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330725912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1.

List - I List - II
(A) Arbitrage (I)  refers to when an invester accepts and seeks Foreign
exchange risk
(B) Hedging (I)  refers toa time when foreign exchange shifts, causing

the spot rate to vary frequently

(C) Speculation (IIT) refers to purchase of currency in monetary center
where it is cheaper

(D) Foreign exchange risk (IV) refers to avoidance of foreign exchange risk
Choose the correct answer from the options given below :

(1) (AL, (BHIV), (CHI), (D}(I)

(@ (AL), (B}(ILL), (C-(I), [D)-(IV)
() (AMD), (B}, (CHIV), DRI
(4)  (AMD), (B}-(IV), (CH(IL), (D}(I)
Options :

1.1



2.2
3.3
4.4

Question Number : 133 Question Id : 5330725912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl ¥ -1 1 e e
Tl LI
(A) ST (Arbitrage) () G TR ool frfo ifim 1 e # SR e
gl
(B) e () 38 9 1 e o & 5l ool 71 e & foreel age
¥2) Wl & €|
() Wearst (Speculation)  (IIl) TR ek 3% B WA B el & 5 7 A 4 ¢
(D) forcuit ffma sfi (V) forcuft fofma wfiaw o wfter 4 Heifem |

7 feu mu foeredt # 9 W S T e
(1) (A, (BHLV), (C)-1), D}

(2)  (A){1), (BHL), (C-(), (D)-(IV)

() (AHD), (BHIL), (CHIV), DHI)

() (A){1), (BRIV), (C}(II), DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 5330725913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
List - I List - II
(A) Labour capital ratio (I)  The price of a commodity determined by
exclusively from its labour content

(B) Labour intensive commodity (I)  The commodity withlower capital-labour ratio
at all relative factor prices

(C) Labour theory of value (I) The amount of labour per unit of capital used
(D) labour saving technical progress (IV) It increases the productivity of capital
proportionately more than the labour

Choose the correct answer from the optiuns given below :

(1) (AR, BHI, ©-(), D-1V)

() (AHID, B)-(, ©-(1), D)-(1V)
() (AJ(T), (B}-(L), (CHII), D)-(IV)
(4)  (A}{I), (B)-(IT), (CHIV), (DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 5330725913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 8 -1 e i
Tl T

(A) FA-Y5 I () forelh o 1 e o w0 A 3 o e # freif dd

(B) 9T T () e W& 5 190 T RHR G- S0 il o]

© TERMEE (1) T G R A W

(D) 9 W Feheeh] JA (IV) 78 S0 1 SR A AW B9 4 e W S ae
7

et few T foeredl ® W S T I

(1) (A, (BHI, ©-0), DY)
(@) (AR, B)-(), -1, (O-(1V)
() (A, (BK(L), (OHL), (D)-(IV)
(@) (AH), (BHI), (C-IV), (DA

Options :



1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 5330725914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Monopoly theory of distribution (I) Walker
(B) Theory of profit (II) Robinson
(C) Full cost pricing (Ilf) Kalecki

(D) Modern theory of rent (IV) Hall and Hitch
Choose the correct answer from the options given below :

(1) (A1, B)-1), ©-(1), (D)-(V)

(2) (A)-II), (B)-(I), (C(IV), (D)-(II)

(3)  (A)HI), (B)-(1V), (O)-(1D), (D)-(1)

(4)  (A)-(IV), (B}, (O)~(1D), (D)-(I)

Options:
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 5330725914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Geil-1 9 geii-11 1 faerm wifsm

11;-}]‘.1 -11
(A) famror =1 wepfueRR fagia (I) @i
(B) Y <HI fHzgid (I fs=ga

Ui ARTd ShIHd— R (III) THeTEhT

(D) f&ma = anyfre fagla (IV) T iR fe=
= fou o fommedi § 9 @e 39 1 999 Ff9

(1) (A)-(ID), (B)-I), (O)-(I), (D)-(IV)

(2) (A, B)-(I), (O-(IV), (D)-(IT)

(3)  (A)-(I), (B)-(IV), (O)-(1), (D)-(I)

4)  (A)-(IV), (B)-(II), (C)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 5330725915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) General Heteroscadesticity test () Ramsey
(B) General test for auto correlation (II) Hausman
(C) Test of simultaneity (IlI) White
(D) General test of specification error (IV) Breusch-Godfrey

Choose the correct answer from the Dptinns givp_n below :

(1) (A, (B)-(1), (C)-(IM), (D)-(IV)
V), (B)-(1D), (C)-(I), (D)~(I)

2) (A

(3)  (A)-(I), (B)-(IV), (O)-(1D), (D)-(0)
(4) (A)-(), (B)(I), (C)-(IL), (D)-(V)
Options :

1.1

2.2

3.3



4.4

Question Number : 136 Question Id : 5330725915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .
qj]‘.[ -11
(A) T faum faenfier adero (H THE
(B) =d: We-Yadl 1 W g (1) B
(C) HeehIferahal ol &0l (I) =Tz
(D) fafreym Jfe i s = (IV) FTa-TIEH

< fe T Ferbesi & & W@ SO 1 T R
(1) (A0, BRI, (O-(1), (D)-(IV)
() (A)-1WV), (B)-(WD), (-1, (D))
(3) (A1), (BIHIV), (I, (D)-()
(@) (A)-), (BI-D, (O-(W), (D)-1V)

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 5330725916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 1I
(A) Narasimham Committee Report () (I)  Frauds and Malpractices in Bank
(B) Ghosh Committee Report (I) - Technology issues in Banking
(C) Padmanabhan Committee (II) RBIshould withdraw 91 days T. Bill from
market
(D) Saraf Committee (IV) Style of inspection and follow up by the
central bank

Choose the correct answer from the options given below :
(1) (A}, (BHIV), (CHL), (D)-(1)
(@ (A, (B}, (C)(Im), D)-(Iv)
(3) (A}, (BHT), (CHV), (D}(I)
(4) (AR, (BHI), ©-(0), D)-(IV)

Options :
1.1
2.2
3.3
4.4

(
(
(

Question Number : 137 Question Id : 5330725916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A1 8 G111 e e
el Gciall
(A) Woemuffifd @ (@) oFH e ud R TR
(B) i i frare (1) sifekT ¥ grefireet Heiel o
(C) T (D) ST.E3E, 1 am & 91 e % . ot Ao o wfew
(D) W% Hfufa (IV) T o g ol a1 It o ogae e
A fU U foedl ¥ Tl TR T FIC

(1) (AHII), BMIV), (O, (D))
2 (A)-0), (B)-(), (C{), (D}-V)
3) (AML), (B, (CHIV), DHI)
) (AM)

(
(3
() (A, (BHI, ©-0), O-V)

(A
(
(
Options :
1.1
2.2



3.3
4.4

Question Number : 138 Question Id : 5330725917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IL
List -1 List - 11
(A) PQLI (I)  Amartya Sen
(B) HDI (II) Mehbub-Ul-Haque
(

(C) Capability Approach to Development [II) Alkire and Foster

(D) Multi-Dimensional Poverty Index (IV) Morris D. Morris
Choose the correct answer from the options given below :
(1) (AHIV), (B)-(II), (O)-(D), (D))

() (A)-(IV), (B)-(), (C-(II), (D)-(I)

(3)  (A)-(D), (BRI, (C)-(I), (D)-(IV)

@) (A)HIV), (B)-(I), (C}-(II), (D)-(I)

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 5330725917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

geit-1 9 gi-11 = frer i

qeli-1 Helt-11
(A) 3T, () = 39
(B) UAEL.SME. (I) WETa-3A-5h
(C) fokrg =1 WA U (1) RIS 2T
(D) Multi-Dimensional Poverty Index (IvV) wiftg €. A
= feu 7o foredi § 9 We IO 5 9949 Fie

(1) (A)-IV), (B)(1I), (C)-(0), (D)-(IM)
(2)  (A)-(IV), (B)-(L), (O)-(1T), (D)-0)
(3) (A1), B)-(1), (O-(IL), (D)-(IV)
(4)  (A)-IV), (B)-(I), (C)-(L), (D)-(I)



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 5330725918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L
List - I List - II

(A) Montreal Protocol (I)  Contingent valuation method
(B) Cop 28 (I) Control of CFC
(€) Rio+20 (Ilf) Climate Conference

(D) Willingness to Accept (WTA) (IV) Sustainable Development
Choose the correct answer from the options given below :

1) (A1), (B)-(), (C)-(IV), (D)-(0)

(A1), (B)-(1), (O)-(1V), (D)IM)

(A)-(II), (BHIV), (O-(1D), (D)-([0)

(A)-(D), (B}-(ID), (C)-(IV), (D))

Options :

1.1

2.2

3.3
4.4

)
)
3)
4)

(
(2
(
(

Question Number : 139 Question Id : 5330725918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 9 i1 1 e it

-1 -1
(A) Tifeaa R (1) seRfem - fem ggfa
(B) Cop 28 () HLURH, F
(C) Rio+20 (Ill) Te@ry FHe
(D) iR FH Hl T (Willingess to accept) ~ (IV) Hefd o

4 fe o et & Wl 3 1 < A
(1) (A)MI), B)-(), C-1V), (D)-()

@ (AL, B-{0), (O-LV), (D))

() (AMI), BIIV), (O, (D)-()

(4) (A0, (BHI), (O(IV), (D))
Options :

1.1

2.2

3.3
4.4

Question Number : 140 Question Id : 5330725919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Bank run (I) D. Pearce
(B) g-ratio (II) M. Yunus
(C) Genuine saving (IlI) P. Diamond
(D) Micro finance (IV) J. Tobin

Choose the correct answer from the Dptinns given below :

(L) (A)HIV), (B)-(D), (C)-(ILI), (D)-(IT)

(2)  (A)-(IL), (B)-(IV), (C)=(I), (D)-(IT)
(3) (AL, (B)-(1), (©)-(1V), (D)-(I)
(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(I)
Options :

1.1

2.2

3.3



4.4

Question Number : 140 Question Id : 5330725919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .

-1 -1
(A) dfF @ 0 =
(B) g-FHId (I) U I
(C) drEafash a=d (1) . sEHe
(D) 9&H fas (V) . 2fed

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (A)-(IV), (B)~(I), (C)-(II), (D)~(I)

(2) (A, (B)-(1V), (O-(D), (D)-(IT)

(3) (A, (B)~(1D), (©)-(IV), (D)-(I)

(4) (A1), (B)-(IV), (O)-(), (D)-(II)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072234
Question Shuffling Allowed : No

Question Id : 5330725920 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Question Label : Comprehension : Consider the following diagram : Social Costs of Monolpoly
Power

R5/Q 3
P\ MC
m
R&\ingle i Triang
¥, :
Triangle
= AR
MR
> X

Qn Q Quantity

Here (i)  X-axis measures quantity
(i) Y-axis measures price per unit (Rs/Q)
(i) P,=competitive price
(iv) P = Monopoly price
(v) Q -campellhve output
(vi) Q,,=monopoly output

Sub questions

Question Number : 141 Question Id : 5330725921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the consumer loss because of moving from competitive to monopoly price (from P, to p,,)
from the following alternatives :

() Aand C
(2) AandB
(3) BandC
(4) Aonly
Options :
1.1

2.2



3.3
4.4

Question Number : 142 Question Id : 5330725922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct answer from the following alternatives :

(1)  Monopoly output is environment friendly comparative to competitive output
2
3

k.

(2) Competitive output is environment friendly comparative to monopoly output
(3) Both (1) and (2) are equally harmfull

(4) Both (1) and (2) are environmental friendly equally

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 5330725923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As aresult of higher price, the producer gains and at the same time loses by amount respectively as
shown below :

Find out the correct answer from the following alternatives :

() BA

2) BC
3 AC
(4) Aonly
Options :
1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 5330725924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Because of higher price (From P, to P
following alternatives,
1) A+C

o), find out the producer gains (producer surplus) from the

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330725925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dead weight loss from the monopoly power is one of the following alternatives, Choose the correct
one ;

() A+B
() A+C
B A

() B+C

Ll

Options :
1.1
2.2
3.3
4.4

Question Id : 5330725920 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



IR e &1 grferes are § Gefud fFefafes fas w famg #@ifau

b §
Rs./Q A
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| A’

T,
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>
I
[w s

=

\

S
-

Qn Q. AT

T (i) X-371 T W9 €

(i) Y-3& 9fq g2 Fia =901 § (% /Q)
(iii) P,=yfaeadl ind

(iv) P, = UeIfEERR Afe

(v) Q,=ufoenf 3wreH

(v) Q,,=TEHIEHR See

m

e

Sub questions

Question Number : 141 Question Id : 5330725921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fwfetfi forredi # & yfened § e @i (0, 8 p, ) # A TR F FO I TR TA
CIE

(1) A#RC

() AHRB
(3) B#ERC
(4) & A



Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5330725922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfea faswed 4 et S A
(1) TEHMHEFR 3ee Fiaeael 3eed 1 o H Jaiaio 319 ol ¢ |

(2) wfoeas Seues UHHER 3emed &1 gor H TaiaRon ST 2l & |
(3) (i) 3 (ii) ST THIT ¥ F SATERE © |

(4) (i) @R (i) S TEE T F TG0 SE & |

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 5330725923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T I 2 SO, ST o o B & o 3 % ey A fow o s e af
T E:

frrmfefen fawed o @ 6 3T 39 Fifu

() BA

() BC

() AC

(4) & A

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5330725924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e i o (P P, ) freifefe fomed # 4 wees o (e afm) i #
(1) A+C
) A-C
3)
)

- ]

(
(3) A+B
(4) B+C
Options :
1.1
2.2
3.3

4.4

Question Number : 145 Question Id : 5330725925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THITHR Wi | el 9 ot frfafaa fowedi § € v o 81 98 fowen 9 -

() A+B
(2) A+C
3) A
(4) B+C
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072235
Question Shuffling Allowed : No

Question Id : 5330725926 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following passage and answer the questions.

For a financial year, the Budget was presented by the government. Some major heads and items
are highlighted hare. Total receipts was Rs, 400 crore, of which revenue receipts was Rs. 250 crore and
capital receipts was Rs. 150 crore. In the total revenue receipts, tax revenue receipts contributed Rs. 220
crore and non-tax revenue receipts conributed Rs. 30 crore respectively. In the total capital receipts,
Borrowings and other liabilities were Rs. 100 crore. Out of total revenue expenditure of Rs. 300 crore,
interest payments was Rs. 90 crore and grants for creation of capital assets was Rs. 20 crore. Out of total
capital expenditure of Rs. 100 crore, scheme expenditure was Rs. 75 crore and other than scheme
expenditure was Rs. 25 crore. The country’s GDP at current prices for the given financial year was
Rs. 2000 crore. On the Balance of payments accounts, the current account deficit was Rs. 50 crore.

Sub questions

Question Number : 146 Question Id : 5330725927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the fiscal deficit as percentage of GDP ?

(1) 5%
(2) 10%
(3) 12.5%
(4) 15%
Options :
1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330725928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the revenue deficit as percentage of GDP :

(1) 2.5%
(2) 3.0%
(3) 3.5%
(4) 4.0%
Options :
1.1

2.2

3.3

4.4



Question Number : 148 Question Id : 5330725929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the primary deficit as percentage of GDP ?

(1) 0.2%
(2) 0.3%
(3) 0.4%
(4) 0.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 5330725930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the effective revenue deficit as percentage of GDP ?

(1) 0.5%
(2) 1.0%
(3) 1.5%
(4) 2.0%
Options :
1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 5330725931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the twin deficit as percentage of GDP ?

(1) 2.5%
(2) 5.0%
(3) 7.5%
(4) 10.0%
Options :

1.1

2.2

3.3



4.4

Question Id : 5330725926 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

frrerfefian et @t ufew ol v & e difo

fof a3 e, e g e Y o v | 5 e A o R e o e fewn
| e Wit 400 T R of; e 7o it 250 08 ¥ i Yo it 150 Fg T 4 )
it vl e, 3 Tl e 1 220 T 9 i T o el W 3 6 30 G T A S
fe | 3t Yol ife et &R o7 S 100 %0 7 71 1 300 Fg ¥ 6 g T A W
9 ST 90 TS T of o o e o o o form o 20 0 T 411 100 S T F FA
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T RG] T < o e T I (S, ) 2000 € T o | S HGe @ H ] T
) T 7 41|

Sub questions

Question Number : 146 Question Id : 5330725927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SEL . o ufaerd B9 H, TSEREra =T R o ?

(1) 5%
(2) 10%
(3) 12.5%
@) 15%
Options :
1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330725928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



.29, & ufavrd B9 | wered =rer feraan o 2

(1) 2.5%
(2) 3.0%
(3) 3.5%
(4) 4.0%
Options :
1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 5330725929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.20 o ufaera w9 H yrefasks =meT faraan on 2

(1) 0.2%
(2) 0.3%
(3) 0.4%
(4) 0.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 5330725930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST, E1. 9, o 9fayrd 9 H wrel TS =12y forean on ?

(1) 0.5%
(2) 1.0%
(3) 1.5%
4) 2.0%
Options :
1.1

2.2

3.3

4.4



Question Number : 150 Question Id : 5330725931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

St 2. & gfoera €9 ° f5-T (twin) =1 fhaan o ?

(1) 2.5%
(2) 5.0%
(3) 7.5%
(4 10.0%
Options:
1.1

2.2

3.3

4.4





